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Unit No, j
(WHOLE N UMBERS)

Exercise No | (TB PG 05)

1. Write the followin ,
3', - nded form € Numbeps in

) 675432

ol: 675432 = 600000 + 7
fm+3a+2Ans 0000 + 5000 +
() 437911

Sol: 437911 = 400000 + 309
900+ 10+ 1 Ans %0+ 7000 +

(c 210956

Sol: 210956 = 200000 + 10000 + 0000 +
900+ 50+ 6 Ans

@) 546743

Sol: 546743 = 500000 + 40000 + 6000 +
700+ 40 + 3 Ans

0] 786594

Sol: 786594 = 700000 + 80000 + 6000 +
500+90 + 4 Ans /

0] 509223

Sol: 509223 = 500000 + 00000 + 9000 +
200+20+3 Ans

@ 322167

Sol: 322167 = 300000 + 20000 + 2000 +
100+ 60 + 7 Ans

(h) 657890

Sol: 657890 = 600000 + 50000 + 7000 +
800+ 90+ 0 Ans '

(i) 236789 ' {

Sol: 236789 = 200000 + 30000 + 6000 +
700 + 80 + 9 Ans

0) 678324
Sol: 678324 = 600000 + 70000 + 8000 +
300+20 4 Ans
k) 901452
Sol: 901452 = 900000 + 00000 + 1000 +
400 + 50 + 2 Ans

756432

Sol: 756432 = 700000 + 50000 + 6000 +
00 + 30+2 Ans
Write the following numbers in

Standard form.
(@) 600000 + 20000 + 1000 + 100 + 70 +1

tmm

929

Mathematics-4
WWW
= 239235
gc) 35@000'!-60000+5000+300+40+
(d.)’ 7ooooo+soooo+oouo+7oo+90+o
Q3. Write the place and place value of
the colored" digit.
(a) 576102
Sol:  Place = tens
Place value =00
(b) 824360
Sol:  Place = ten thousand
Place value = 20000
(c) 794615
Sol:  Place = hundred thousand
Place value = 700000
(d) 700496
Sol:  place = ones
Place value =6
(¢) ' 573456
Sol:  Place = Ten thousand
Place value = 70000
(0 218654
Sol:  Place = thousand
Place value = 8000
(g 234566
Sol: Place = hundreds
Place value = 500
(h) 200042
Sol:  Place = thousand
~ Place value = 0000
() 956324
Sol: Place = ones

Place value =4

Q4.  Write the following numbers In
words.

(a) 674325

Sol: Six “Sundred and seventy four

thousand, three hundred and twenty five. Ans
(b) 943711

Sol: Nine hundred and forty three
thousand, seven hundred and eleven. Ans

(c) 219560
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Sol:  Two hundred and nineteen thousand, | (f) Two hundred seventy two thousang

five hundred and sixty. Ans five hundred and fifty five.

(d) 675434 Sol: 272555 Ans

Sol:  six hundred and scventy five thousand, | (g) étilﬂ'*‘en hundred and nminety siy
ndred and thirty four. Ans thousand, five.

::;” " 86'74;9 4 Sol: 796005 Ans.

Sol: Eight hundred and sixty seven| (h) Four hundred and forty-four

thousand, four hundred and fifty nine. Ans thousand, four hundred and forty four.

(N 925302 Sol: 444444 a

Sol: Nine hundred and twenty five| (i) One hundred and omne thousand

thousand, three hundred and two. Ans three hundred and twenty.

(&) 236721 Sol: 101320 Ans

Sol: Two hundred and thirty six thousand, Exercise 2 (TB Pg8-9)

seven hundred and (wenty one. Ans

(h) 978065

Sol: Nine hundred and seventy eight
thousand, and sixty five. Ans

(i) 362897 :

Sol:  Three hundred and sixty two thousand,
eight hundred and ninety seven. Ans

() 837264

Sol: Eight hundred and thirty seven
thousand, two hundred and sixty four. Ans

X) 405129

Sol: Four hundred and five thousand, one

hundred and twenty nine. Ans

m 643275

Sol:  Six hundred and forty three thousand,
two hundred and seventy five. Ans

QS. Write the following in numerals.

(a) Nine hundred and eighty one
thousand, six hundred

Sol: Ans

(b) Seven bundred thousand, four
hundred and two

Sol: 700402 Ans

(©) Four hundred thousand, sixty-one
Sol: 400061 Ans

(d) One hundred and twelve thousand,
three hundred and one.

Sol: 112301 Ans

(e) Eight hundred and one thousand,
five hundred and forty-six.

Sol: 801546 Ans

Q1. Compare the following oumbers by
nsingglﬂbﬂl’g (<,>,=
(a) [ 84,325 _<_93417 | (b) | 4,853 <19314
(c) | 56,708 >32,156 | (d) | 23,612 =23,612
(c) | 65,356 < 65,358 (f) | 74.932> 74,542
((g) ] 68,709>43216 | (h) | 32,567 >23,578
Q2. Write the following numbers in
descending order.
l (a)  83,401;97,035;12,337
Sol: 97,035, 83,401; 12,337 Ans
| ®) 18,017,18,221,13,411
Sol:  18,221;18,017; 13,411 Ans
(¢)  42,734,53,358,48,176
Sol:  53,358; 48,176; 42,734 Ans
(d)  36,121,34,222,37,923
Sol:  37,923;36,121; 34,222 Ans
(e) 16,483,23,601,36,243
Sol:  36,243; 23,601; 16,483 Ans
)] 12,683; 24,313; 24,391
Sol:  24,391;24,313; 12,683 Ans
(g)  32,531; 36,537; 28,540
Sol:  36,537; 32,531 ; 28,540 Ans
(h):  98,754; 78,543; 89,654
Sol:  98,754; 89,654; 78,543
Q3. Write the following numbers in
ascending order.
(a)  40,131; 40,735; 31,273
Sol: 31,273, 40,131; 40,735 Ans
(b) 30,817; 28,211 ; 43,181
Sol:  28,211;30, 817, 43,181 Ans
(c)  70,442; 58,375 ; 84,176
Sol:  58,375; 70,442; 84,176 Ans
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(d) 67,319; 22,342 ; 97,323

Sol:  22,342; 67, 319; 97,323 Ans

©  83,624; 36,241; 63,283

Sol:  36,241; 63,283 ; 83,624 Ans

0 48,3265 23,634; 43,124

Sol: 23,634, 43,124; 48,326 Ans

(@  59,312; 60,337; 24,085

Sol: 24,085 59,312 ; 60,337 Ans

M) 89,675 ;84,675 ; 89,546

Sol:  84,675; 89,546 ; 89,675 Ans

Review Exercise (TR Pg 10)

_Ql; Choose the correct answer,

(a) | The smallest 6 digit number is : |
G |10 (i) [100000v

Q. Write the following numbers in
Words,
(@) 43567
s."]: Forty three thousand, five hundred and
Sixty seven. Ans
397,741 *
Three hundred and ninety seven
thousand, seven hundred and forty one. Ans
© 952,016

(i) | 101010 (iv) | 117000 l

(b) | Comparison of numbers always starts |
from the

() | Right (i) | Lehv

(i) | Last (iv) | Above !

(c) | In number 738,101; the place value of
digit 8 is

(i) | 800 (ii) | 8

(iii) | 80 (iv) | 8000 v

(d) | The greatest 6 digit number is :

(i) 1910100 (i) | 901101

(ii1) | 999999 v/ (iv) [ 900000

(e) | 348,011 is greater than . |

(i) | 3480107 (i) | 348111

(iii) | 348210 (iv) | 348212 ]

() | 431,108 is smaller than .

() [ 4311086 (i) | 431107 H

(i) [ 430100 (iv) | 431109 v

101 Mathematics-4

Sol:  Nine hundred and fifty two thousand
and sixteen. Ans

(d) 546, 743

Sol:  Five hundred and forty six thousand,
seven hundred and forty three. Ans

(e) 758,649

Sol:  Seven hundred and fifty eight
thousand, six hundred and forty nine. Ans

)] 395,202

Sol: Three hundred and nincty five
thousand, two hundred and two. Ans

(g) 210,007

Sol: Two hundred and ten thousand, and
seven. Ans

(h) 986,950

Sol:  Nine hundred and eighty-six thousand,
nine hundred and fifty. Ans

(i) 600, 000
Sol:  Six hundred thousand.
(J) 600,032

Sol:  Six hundred thousand and thirty two
(k) 452,901

Sol:  Four hundred and fifty two thousand,
nine hundred and one. Ans

m 536,427 .

Sol:  Five hundred and thirty six thousand,
four hundred and twenty seven. Ans

Q3. Write the following numbers in
expanded form,

(a) 453672

Sol: 453672 = 400000 + 50000 + 3000 +
600+ 70+ 2 Ans ;

(b) 974311 :
Sol: 974311 = 900000 + 70000 + 4000 +
300+ 1041 Ans

(c) 125609

Sol: 125609 = 100000 + 20000 + 5000 +
600+ 00+ 9 Ans

(d) 465743

Sol: 465743 = 400000 + 60000 + 5000 +
700+ 40+ 3 Ans

(e) 678945

Sol: 678945 = 600000 + 70000 + 8000 +
900+ 40+ 5 Ans

(n 392502
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Sol: 392502 = 300000 + 90000 * (b) 824,360 "
500+ 00+ 2 Ans Sol:  place= hundred Thousan
Sol: 316272 = 300000 + 10000 * (© 946,715
200 + 70 + 2 Ans Sol:  Place= hundred thousand
(h) 569078 — place value =900,000 Ans
Sol: 569078 = 500000 + 60000 + 9 g 960,700
00070+ B Ay gol. place = ones
(i) : jue = 0 Ans
Sol: 327869 = 300000 + 20000 + 7000 + ;’;ﬂ;gg &
800 + 60 + 9 Ans (Segl_ Place = Ones
G) 432786 ' i
Sol: 432786 = 400000 + 30000 + 2000 + | Place value 54; :U'ls
700 + 80 + 6 Ans 826, d
) 541902 Sol:  Place =Jhousan
Sol: 541902 = 500000 + 40000 + 1000 + | place value = 6000 Ans
900 + 00 + 2 Ans (g 452,663
) 364753 Sol: “Place = Ten thousand
Sol: 364753 = 300000 + 60000 + 4000 + | Place value = 50,000 Ans
700 + 50 + 3 Ans (hy 234,540
Q4.  Write the following in numerals. Sol:~ Place = Hundred thousand
(@ Four hundred and fifty-one | Place =200, 000 Ans '
thousand and one. Q6. Write the following in standar
Sol: 451,001 Ans form.
(b) . Three hundred and eight thousand, | (a) 300000 + 40000 + 4000 + 600 + 80+
four hundred and four, 3 =344683 Ans
Sol: 308,404 Ans (b) 600000 + 90000 + 0000 + 000 + 50+
(c) Five hundred and fifteen thousand 4= 690054 Ans :
Sol: 515,000 Ans () 400000 + 20000 + 9000 + 100 + 00+
(@)  Six hundred and twenty one| 4=429104 Ans
thousand, one hundred and five, (d) 700000 + 10000 + 6000 + 700 + &0+
Sol: 621,105 Ans 5= 716785 Ans
(e One hundred and fi
hzn i and five thousand five Es-:n j Co;npare the following numbers b
Sol: 105,500 Ans O ’;"843" (‘:”’5 7)341
(N Two  hundred d oah e,
thousand, one hund and  nimety-six | (b) 34,875 <_98317
red and twenty five,
Sol: 296,125 Ans E‘:& 3(5]';78 > 457321
(8 Nine hundred . 26 > 21,635
thousand three. Sy () 76,643 = 76,643
'g::‘ 967, 003 Ans {0) 37,256 <_54.490
Write the place g 66,809 > 24135
:h; coloured digits,p and place value of | (h) 32674 ;_26:22;
a) 765,021 Q8. Write the . :
Sol: Place = thousand, ooy, WVrite the following in descendif?
(a) 12,683 : 14,601; 18,624
_./
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G 18624, 14,601; 12,683 Ang 103 Mathematics-4
) 16,283 ; 26,133; 14,394 1
sol: 26,133 ; 16,283; 14,394 Ans 2 4 5 6 8
0 23,913 ; 30,536; 22 480 + 3 5 3 | 2
b g na it
, 108 § 54, : 54,790 Q2.  Solve the following.
g‘?,: 54,790; 54,788; 54,786 Ans (a) 58134 + 45367 .
Q9. Write the following numpers in s R ¥ 9
gscending order. ' , ,
@) 94041;84,405; 33,73 5 ¥ ¥ &
sol: 33,731 ; 84,405; 94,041 Ans + 4 5 3 6 7
@) 19375312921 14,131 9 3 A G
sol: 12,921 14, 131; 19, 375 Ans (b
. ) 78954 + 12236
© 45,034 ; 37, 358; 42, 876 Sol Th «ThA B T ' O
Sol: 37,358 ; 42, 876; 45,034 Ans WY 1
@ 36,172 ;35,242 ; 37,723 e W v i
Sol: 35,242 36, 172, 37,2}1\115 i 'II 5 A 3 6
(ADDITION AND SUBTRACTION) V-1 949 = 9
Exercise No 1 (TB PG 16) () 89764 + 97856
Q1.  Solve the following. 8FE T T H T 0§
(a) T.th Th H T 0 1 | 1 |
! I 8 9 ¥ -G W
] 3 9 2 7 + B2 3 7 5 6
+ 2 4 | 5 i 3 5 T 9
1 6 3 4 o4 (d) 53241 +67543
Sk TR T B ‘T O
® Tk T8« B, P.° '
| 5 3 2 4 ]
3 5 3 = R + 6 7 5 4 3
7 &/ Y 7 0 ()~ 98756 + 56744
Sk Tsh Th H T O
() Th Th H T O @ el
1 I ] | 9 8 7 5 6
7 5 6 7 9 + 5 6 7 4 4
. g S 8 3 8 3 & 5
a8 ooR 3
() 65432 +87643
_ Tk m B T ©
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Sol T.th Th H T 0

T e
33115 + 61537

Sol Th T B T O
1

4 2 1 1 5

+ 6 1 5 ‘F 1

m 3 ¢ 5 2

(h) 58764 + 65744

Soo Tth Thn H T O
1 ! 1
5 8 7 6 4
+ 6 5 7 4 R
12 4 5 0 8

(i) ~ 54312 + 68534
Sol Th Th H T O
|
5 4 3 x 3
% & .3 5" 3
2 2 8 4 @&

Q3. Nida bought a 2™ hand laplop for
Rs 59,453 and spent Rs 12,652 on repairing.

How much money did she spend alrogether?
Sol:

CostPrice= 59 :l 53
Repairing=+ 12652
Total Spent Amount = Rs 721035 Ans
Q4. In January , 83,215 people travelled
on an airplane and 21,084 people travelled

in February. How many total passengers
travelled in two months?

Sol:

Passengers travelled in January = 83215
Pasenger travelled in February = +21084
Passengers travelled in two months = Rs104299 Ans

Q5. In alibrary there are 42,725 books.

Administration decide to add 22,500 new
books.

(a) Find the total number of books in

the library. .
Sl Tthh Th H T O

!
4 2 T A 5
£ 2 2 > 0 0
6 3 - 5
(b) If 23,890 more books are added then
find the total number of books?

Sl Tth Th H T 0
1 1

& 5 4 % 3

3 .9 0

+ 2
=% Sl g 1

Q6. A bus covered of 23,672 km in one
month, the next month the same bus

covered distance of 31,716 km. _
(a) Find total distance covered in two

months?
Sol:
I
Distance covered inlstmonth = 23672
Dis tan cecov ered in2nd month =+ 31716
Total distance = 55388

The total distance covered in two months is
55,388 km Ans

(b) In which month did it cover more
distance?

Sol: In 2* month the bus will cover more
distance Ans

Exercise 2 (TB page 19
?; Solve the following. R
a
Sl Th " H T O
3 ¥ B
E 5 5 2 B
S 7 3 6- 6
.. Kk F. 9. &
(b)
Sol Tth Th H 7 0
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7 13 105 Mathematics-4
5 6 # , 6 .
. % -4 3 ’; . 6 7 4 5 M
S W - i % 2 8 o
© 2.3 i
T.th Q2. Solve the following.
- 5 I Ans. (a) 45158 - 34756
, ! Sol Th Th H T O
g d ¥ ¥ N 4
e LA R B ® 'S &
5 9 30N a = % % % % 3
(d) e Sl e
Sofl Tth Th H T o (b) ~ 97843 - 61732
5 6 Sol Thenn{ ¥ T 'O
T R 9 \N\N 8 4 3
= ] 6 . . 7 =r 6 1 7 3 2
: 8 2 32 8 g 8 4 1 3
© - (c) ~ 99754 + 67584
Sol Tth Th H T O Sol Tah Th H T 0
4 12 14 11 . 9 9 7 1 5 4
s 3 ¥ z 4 w aifs 3 3 4
=% 3 & Biw 9 § 3.0 9 ¢
T & B 7 3 (d) ~ 25341-16753
0 ‘ 80l Th T B T ©
Sol Th Th H T N i W B 9
2 ¢ 5 ¥ % # 3
z |3 2 ] ls e l 6 7 5 3
R - 6 2 3 8 8 5 8 3
e %6 BE (€) 85964 - 74544
® : Sol T4h Th H T O
T =5 2 3 9 3 =
Sol T.th T: H" s .8 @ & =g
0
. i 5 . U] 63541 - 58463
oo R 8 Sl Tth Th H T O
2 B 7 8 - 2 5 4 13
. B oA
R B W i iR
. 0. 3 3
() Q3. Saad has Rs 52,490. He bought a
8l T& ™ H T ©O bicycle of price was Rs 15,873.

‘-'-__
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(a) Now how much moncy left with him?

Sol  Total Amount = Rs 52,490

Cost price of bicycle = Rs IS:BTB

To find the remaining amount; we will use the

process of subtraction

@ i ThT H T O

a " &
5 2 4 40
- | 5 g8 7 3
3 6 6 | 7
The remaining money is Rs 36,617

If the price of the bicycle is Rs
18,759 then how much moncy will be left?
In this case also we use the process of
subtraction
Sol Tth Thn H T O
4 1 8
g 2 4 g
- 1 8 7 5 9
3 3 7 3 |
If the price of a bicycle is Rs 18,759 then the
remaining amount will be Rs 33,731 Ans.
Q4. In granary there are 66,375 bags of
wheat and rice. If numbers of wheat packets
are 44,468 then find out the number bags of
rice?
Sol Total bags = 66,375
Number of bags of wheat = 44,468
Number of bags of rice =?

In this case; we will use the process of
subtraction

Tth Th H T O
s 6

6 £ "3 7 ‘s

- 4 4 4 6 8

2 ] 9 0 7

There are 21,907 bags of rice

QS. Class three students collected Rs
35,278 for a welfare institution while class
four students collected Rs 32,184. How

much more amount collected b
than class four? y class three

Solution
Class 3 collected = Rs 35,278

Class 4 collected = Rs 32,184
To find more amounts collected by class 3.|hm
class 4, we will usc the process of subtraction.

Sof Tth Thn H T O

|
s 5 Z 1 8
- 3 2 ] 8 4
3 o 9 4

Rs 3094 more amount collected by class three
than class four Ans
Q6. A candidate got 62,436 votes from
one constituency while the other candidate
got 86,733. How much more vote did the
second candidate get?
Sol:
1* candidate got = 62,436 votes
2™ candidate got = 86,733 votes
To find that how much more vote did the 2
candidate get; we will use the process of
subtraction.

Sol Tth Th H T 0)

2 4 2 9 7

Second candidate got 24,297 votes. Ans

Review Exercise 1 (TB pg 20)

Q1. Encircle the correct answer.

(a) The sum of 3652 and 41372 is equal to:

i. | 77904 ii. | 77903

iii. | 45024v iv. | 77902

gb) The sum of 17278.and 62354 is equal to:

I | 78234 0. | 342211

iii. | 79632v iv. | 213455

(c) Ayesha have Rs 23456, Her friend gave
!:er Rs 13131 more. Now she has Rs

——-.""|i

i. | 36587v . | 35467

iii. | 14765 iv. | 34567

(d) when subtract 73810 from 89654 then we
will get

e
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| 12345 i, | 13245 —————2¥? Mathematics-4
LE-I- l4'?65dth v, 1 158447 2 ; 1
¢) In @ pond there were 87654 fish_ 17 25 3 3 2 5
:-l,n are shlfted. to another pond th]:;lMSM = 2 6 2 3 8
fish will be left in the first ponga, i g% & % .7
| 33123 ii. | 53456 Q3. Solvethe following.
i, | 53087Y iv. | 53567 (a) 45234 + 12345
(2. Solve the following, Sol Tth Thn H T O
: | | : F N 9
5 4 ¥ 9 9% ¥ F T 3 K 5
F 6 7 4 3 6 5 k. N 9
2 2 2§ (b). 24567 + 134
8ol Th hiH~T O
@ Tth Th H T o ; ; ; ; )
i I
¢ § ® 482 . e
£ . 2 N @ "¢
- {7] (c) 90766 + 38967
Sol’Tth Th H T O
2 1 1
(¢) T.Ilh TI: Hl T' 0 0 W @ A
+ 7
= 4. kg 3
(d) 46525 - 23145 -
iy 14 4 N Sl Th Th H T. ©
4
(d Tth Th H T:l 0 b,k "B.5
% F E o8 8
1
6§ 7 AP 3 * 5 5 3 @
4. & Y ,pW 3 9 () 76247 - 74166
3. 6N 0 ¢ Sol T¢h Th H T O
|
0
(€ Tt Th H 'l"'9 4 ¥ ‘& B § %
9 - Tod «. & & £-8 3
F £ b 8§ )
Uk 8. 3 % =
() 46016 - 20989
Sol Tt(h Th H T O
B TR H T O =
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§ 0 10 1
s + 2
: = = e ga% 3 4

4

- 2 0 9 8 9.

2 5 0 32 g

Q4. In the first week 23456 people went 10
visit the beach and in the second week 34567
people went to visit the beach. Find:
(a) The total pumber of people visited the
beach in two weeks?

Sol:
Visited to beach in 1% week =

| 31

23456
Visited to beach in 2* week = 134567
Total number of people - §8023
who visited

Total number of people who visited = 58023
(b) In which week less people visited the
beach and by how much.

Sol: In this casc we will use the process of
subtraction.
0 T Th B T 0O

3 4 5 & 7

- 2 3 g . 3 6

- ] 1 1 ] |
In 1% week less people visited the beach. Ans
Q5. There were 12345 cattle in a form.
34567 more cattle added. Find:
(a) How many cattle were there in the form
altogether?

Sol: In this case, we will process of
Addition
Sofl Tth Th H 3. B
I t
] 2 3 4 5
+ 3 - 5 6 7
B N F
(b) . If 26754 were goats out of total then
what is the number of cattle other than
goats. -
Sol:  In this case; we will subtract 26,754

from 46,915.

2 0 | ) 8
So, the number of cattle in 20,158 other than

goats. .
Q6.  Thereare 45765 trees are in a forest,

If 32124 are caclus frees, find the number of
trees other than cactus.
Sol:  Total trees = 45,765
Cactus trees = 32,124
To find the number of frees other than cactus,
we will use the process of subtraction.
Sol T.th Th H 4 § 0

4 5 7 6 5
- 3 2 | 2 4
] 3 6 4 1

So, the number of trees is 13,641 other than
cactus,

Q7. Arsalan has Rs 51,346. He wants to
buy a laptop which cost is Rs 75,432, How
much more amount does he need to buy the
laptop.

Sol: Total amount = Rs 51,346

Cost price of laptop = Rs 75,432

To find more amount that he need to buy the
laptop, we will subtract them

Sol Tth Th H T O
3 12

i & 4 3 2

. . % _§

2. 4.0 & 3

Rs 24,086 more amount needed to buy the
laptop. Ans

(MULTIPLICATION AND DIVISION)

Exercise No 1 (TB PG 25)
Q1. Solve the followi
a
Sol H T 0
: .
6 3 1
x 4
2 5 2 4
e ee—— J—
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(b * 35 7601 x 46 =[349646
B P i (N 4117x80
I Th H T 0
4 3 I 1 E
: x 3 5 4 | 1 7
+ | 2 9 3 0 0 0 0 0
431 x 35=|15085 Ans ! 2 2 9 5 & »
(c) 8434 x 31 4117 = 80 =329360| Ans
Th H T o ® 7976 x15
: : ' % B - T ©
& 4 3 4 4 B k |
739 7T ¢
X 3 1 - 1 5
TS B - W . :
T p_3 9 ™ o 8 8 0
- HNT 9 T 6 0o
8434x 31 = P61454] Ans M ¥ "k o
(d) 8046 x 678 B o 7976 * 15 =[119640 Ans
o (h) 6350 x 30
3 4 ™ B T O
3 4 | 1 |
8 = 3 8 3 3D
X 7 g x 3 0
¢ o =4 7 &\ 0 0 0 O
- 4 8 B 2 2\ 0 *+1L9°0 X B0
8 2 3 5(A N 1S 0 % 0 -8
8046 x 78 = 627588 Ans 6350 » 30 =190500 Ans
| (i) 1098 x 37
(©) 7601 x 46 Th HTO
™™ #H T 0 2 3
: | i 30 9 8
v ik K 1 " 3 !
* 4 6
- =4 i o8 8.6
4 3 s +:3 2 9 40
e il I IR 1098 x 37 =H40626{ Ans

" - AL o310 \1qood®
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loth in 2
2. A shopkeeper sold 34?2 m cloth
Stek. chv.-'I much cloth will he sell in 21

weeks?

Sol
Cloth sold ina week = 3452m

Cloth sold in 2] weeks =?
In this case W¢ will
multiplication.

use process of

Printed notebooks in 210 days =7 ; _
To find how many notcbooks printed in 27

days, we will multiply it by 2013.

¥ 8" 3 3

x $ 7

| d 0 9 ]

+ 4 0 2 6 0
5 4 3 5 |

Faclory printed 54351 notebooks in 27 days.

Q5. Each member of a group give Rs 3,415
for a tour of Naran and Kagan. If there are

63 member of the group. How much money

s 4 § 2

X e 3

; % & £ 2

i 6 9 0 Bl 0
NE TN

The shopkeeper sold 72492 m cloth in 21
weeks. Ans

Q3. Liaguat earns Rs 1045 in a day. Find:
(a) How much money will he earned in 45
days?

Liaquat eams in a day =Rs 1045

Liaquat earns in 45 days =7

1 0 4 5

* 4 5

5 2 2 5

+ 4 | 8 0 0
4 7 0 & \\

Liaquat earns Rs 47025 in 45 days Ans

(b) How much money will he earned in 90
days?

Sol: To find out how much money he
eamed in 90 days. '

1045 % 90 = 94050

4 4
il § @& 2
x 9 0
0 0 0 0

Liaquat earns Rs 94050 in 90 days. Ans

Q4. In a Factory, 20,13 notcbooks were

printed in a day. How many notebooks will
be printed in 210 days?

Sol: Printed notebooks in one day = 20,13

will he collected altogether?

Sol:

Each member gave = Rs 3415

63 members gave =7

2

3

1
4

+

S Wbl i

S A

bhilds O X We-—

Ll DN —

5

l

0

!
Rs 2,

(=W

He will collecte

5l

S|=|0O N

5

ltogether. Ani_

Exercise 2 (TB Pg 29)

QL.

Solve the following.

(a) 3)585

195 «Quotient
27
di] _
0 « Remainder

(b) 4)1816

454 —Quotient

4)1816
-16

L "
20

016

0 < Remainder

—

Scanned with CamScanner



JFULRS sreaene~as CavLauvurce BOOk

&)  1gag-ss

(1)  4662+42

©  42)6972 @  up 111 Mathematics-4
66 ¢ Quotient «Q 3 21 +Quotient () Quottent )
343 “Yuwotiens TRa R 42;%&2
42?6972 22)7546 “E'ﬁ;‘;“ 42 o e
~42 66 . LIS .
. T8y 42
-2§2 '+ S .1 43
1;3]— —— O <« Remainder | =
R . 68 U 4 Remainder
U & Remainler — 0 «Re mainder =
239568 —t (m) 6125410 |(m)  2060+23
(C) (0 3')964[ 612 e etient &0 «—Quotien!
416 € Quotient 311 +Quoticnt ojétas 2315060
23)9568 3179641 % =35
-92 -913 Tﬁ'}}_ - 207
Ty L S Ramainie rsi s
—58 33T Q2. In 45 relief camps, 2340 blankets
- 138 -3 were distributed. How many blankets did
0 ¢ Remainder 0 —Remainder || oy 0P RH?
Sol: 45 relief comp set = 2340
ey p
® 12)2868 (h) 32)7392 1 relief comp set =?
939 ¢~ Quotient 231 —Ovuotient Find how many blankets we will use the
- - T process of division.
Tt ki 4512 3 4 0
-8 U g g % X 3
108 9 0
- 108 v 33 9 0
0 « Remainder 0 « Remainder 0 &R
So, One camp get “52” blankets
Q3. 11 1107 chairs are placed in 27 rows
how many chairs will be there in a row?
Sol: 27 rows contain = 1107 chairs
~ To find that how many chairs in on
row, we will divide 1107 by 27
0 133411 @) 105648
njxlz;'l 3 3_18056 % 3 €Q
T e gl x i g =7
22 e i 08
I' ¢~ Remainder | _ 01'6" 03 A
g . & 1
s 0 ¢ Remainder T Y,

There are 4] chairs in one row Ans
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Q4 If 3036 biscuit are 11 bt;xes then find
{ how many biscuits in a box¥
g';l: |1 boxes contain = 3036 biscuits
| box contains =7 : .
To find how many biscuits in a box, we will

use the process of division.
2 7 B

N3P 3 ®
=
8
7

6
6

e
Qmo-

There are 276 biscuits in cach box. Ans

If 6666 books are to be kept in 33
cupboards in a library, how many books
will be in each cupboard?
Sol: 33 cupboards contain = 6666 books
1 cupboard contains=?
To find how many book in 1 cupboard, we will
use the process of division '

2 03

33

L —

n

6 6
6

(=] - -

ol &
o O

Each cupboard contains 202 baoks,

Q6. Saad bought 10 washing machines
for Rs 8950 and an oven for Rs 1550,

(a) How much money did he spend
altogether?

Cost of 10 washing machines =Rs 565‘0
Cost of one oven “Rs 1550+
Total spend amount = Rs 10500 Ans
(b) How much more amount did he

spend on washing machines than an oyen?

Sol: In this case we will use the
subtraction. oo ol

$ 93 0
- Lt 55 0
74 00

He needs to spend more Rs 7400 a.mounls.

(c) In how much amount did he spend

on 8 washing machine? |

Sol: To find the amount Saad spend on each

washing machine, we will divide Rs 78950 by 10,
g 9 &

5 0

10

——

8
8

O wic v

WO WU

0
0
0
Spend amount on each washing machine is
Rs7895. Ans
Q7. In 30 packets, 1350 kg rice are
packed. Find: .
(a) How many kilogram of rice are in one
packet?
Total rice = 1350 kg
No. of packets =30
To find how many kg of rice are in one packel

wewill use the process of division.
4 5

23041

—

o

— D

oo

QMU&QU\

45 kg of rice are in one packet
(b)  How many kilogram rice will be
packet in 38 packed?
38 packets contain = 38 x 45 kg
o =1710 kg
of rice will be packed in 38 packets.
Exercise 3 (TB page 32)

Q1. Observe the given patterns, describe
:h)e rn!elalnd write the next two terms

a) 11,15, 35
(o 5,19,23,27, 31 ! ;

i By 19, 22 9. 31 28
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The next 1Wo terms are 3] 35 A i3

) 30, 609901'201150, 180
g' ""'——--..._!-.__ZLL_.

» 180, 2qp
$30 30 430 +30

+30 +30
So, the rule of pattern is adding 30, Ans
The next two terms are 180,210 Ans

() 6,12,18,24,30, __;_g__-, 42
Sol SRS
61 12, |8, 24, 30’ 36’ 42

M}W

+6 +6 6 +6 “+6 +6

So, the rule of pattern is adding 6, Ans
The next two terms are 36,42 Ans

@  850,800,750,700,650, 600, 650.
Sol o

850, 800, 750, 700, 650, 600, 550

-50 -50 -50 -50 =50 -50

So, the rule of pattern is subtracting 50. Ans
The next two terms are 600,550 Ans

(¢  106,103,100,97,94, 91, 88.

Sol

106, 103, 100, 97, 94, 9I, 88

& a8 3 =3 w3 -3

So, the rule of pattern is subtracting 3. Ans
The next two terms are 91,88. Ans

g)) 284,288,292,296, 300, 304.
|
284. 288, 292p 296i 300’ 304

Nud

S, the rule of pattern is adding 4. Ans

The next two terms are 300,304. Ans

gﬂ)l 560,540,520,500,
0

560, 540, 520, 500, 480, 460

A

Mathematics-4

So, the rule of pattern is subtracting 20. Ans
The next two terms are 480,460 Ans

Q2. Observe the given chart and find at
least 5 patterns. Also set the rules for these

patierns,

[2]3]a]s[6[7]|8]9]w
11213 | 14|15 (16| 17|18 19|20
21(22|23| 24 (25|26 |27 | 2829|230
31(32|33| 3435|368 |37|38| 39|40
41|42 43|44 | 45|46 |47 |48 |49 |50
5152|5354 |55|56 |57 |58)59|60
61|62 |63|64)65|66 (6768|6970
71|72|73| 74|75 |76 | 77| 78| 79 | 80
81|82|83 84|85 |66 |67|88]89]90

91192)|93(94|95]|96|97|98|99 100
Sol: -

1" Position: - 10,20,30,40,50,60,70,80,90,100
Rule: The rule of this pattern is adding “10”
2™ pattern: -

95,85,75,65,55,45,35,25,15,5

Rule: The rule of this pattern is subtracting™5".
3" Pattern: - 1,12,23,34,45,56,67,78,89,100
Rule: The rule of this patter is adding “11".
4" Pattern:

91,82,73,64,55,46,37,28,19,10

Rule: The rule of this pattern is subtraction
ugn. .

5™ Pattern: 8,18,28,38,48,58,68,78,88,98
Rule: The rule of this pattem is adding “10”
Q3. Observe the table gives below and

describe the rule of pattern.
(a) | Rule: Adding “4”
Weeks | Height of the plant
| 4cm
2 8cm
3 12 cm
4 16 cm _——

=20 .20 -20 —20 —20
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5 |20cm

(b) [Rule: Adding “20”

blocks

Boxes of | Total number of blocks

I 20

2 40

3 60

4 80

3 100

REVIEW EXERCISE (TB PG 34)
Q1. Circle the correct answer.

There are 4500 plants in 90 rows. Each
(a) | row contains equal number of plants.
Find the number of plants in row..

@ | 100 ) |10

(iii) | 5 | (iv) | 50v

If the price of one baok is Rs 250
®) | then the price of 22 books will be

(i) | Rs 5555 (i) | Rs 5550

(iii) | Rs 5500v (iv) | Rs 5000

(c) | By dividing 3960 by 88, we will get

6] o (i) | 47

(i) 46 (iv) | 45¥

(d) | 6,18,30,42

(i) 48 (i) | 54¢

(i) 56 (iv) | 46

(¢) | The next term in 88,78,68, is

(1) 98 (i) | 58v

(i) 48 (iv) | 47

Q2.  Solve the following.
(a) 245x2
Sol:

Sl xR
o o -
SR LA

245 x 2 = {490 Ans
b) 74312
Sol:

M W

ols b= |—a
o0
oo

743 x 12=8916
(¢) 4324 x 41
Sol:

-

SR B | X B -
MO W
co|cn N
oo &

§ 7
17
4324 x 41 =[177284

(d) 1245 x 13

[ 8]
-—DL_

+

ON B LD e | W =
— | L~
oojn W
Lo W L) Lh

|
1

1245 x 13 =[16185]

Q3.  Solve the following.

(a)  380+5 (Q=76,R=0 Ans)

6 € Quotient

5

3 0
. 3

W Lrih 0o~

0
0

0 € Remainder

(b) 196+12 (Q=16,R=4 Ans)
6 € Quotient

21T 9 &

6
2

|
~ N O|—

4 & Remainde
() 2925:¢ :

4 8 7 < Quotient
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5"""__6__2 9 2 § ——
- .5
5 2 —~
4 8
4 5
4 2

3 € Remainder
Q:ﬂlﬂ?, R=3 Ans

(@ 329461
>4 € Quotient
613 2 9 4
- 2 2 3
2 4 4
2 4 4
0 € Remainder
Q=54,R =0 Ans
© 176622
8 0 < Quotient
HBIT T 6 6
-+ 1 7 6
0 6
0
6 < Remainder
Q=80,R=6 Ans
h  2205+49
4 5 <€ Quotient
4912 2 0 5 :
1 9 6
2 4 3
2 4 5
0 € Remainder
Q=45 R=0 Ans

A bus has the capacity of 75

Mathematics-4

21 buses were needed for 157
e or 5 passengers,

Q_S. A car covers 1288 km in 23 hours.
Find

(a) How much distance would it cover
in one hour? '

Sol:  Distance covered = 1288 km
Time taken = 23 hours |
To find that car will cover distance in one
hour, we will divide 1288 by 23.
5 6 < Quotient
4311 3 BB
. 5
3 8
A €
0 € Remainder
The car will cover 56 km in one hour. Ans
(b) How much distance would it cover
in 11 hours?
Sol: To find the distance covered by a car
in 11 hours,
We will multiply 11 by 56.

— — ] —

+

RO = O

5
5
I
5
6
1

hijth = | X

The car will cover 616 km in 11 hours,
Q6. A man pays Rs 23,452 as one month
installment of the car. Find:
(a) How much will he pay in 2 years?
Sol 1 year = 12 months
2 years =2 x |2 months

= 24 months
Passengers, How many buses would be -
“eeded for 1575 passenger? 5 o
:  Capacity of each bus =75 Pas?enzfl’_sde TP TR
To find the numbers of buses we will divi e 2 4
1375 by 75. "
2 1 € Quotient i 3 808
2311 8 73 + 4 6 9 0 40
5 0 § 5 283 45
7 5 He will pay Rs 562,848 in 2 years Ans
7.9 (b)  How much will he pays in 3 years?
0 < Remainder | year = |2 months
'\—._
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3 years =3 ¥ 12 months
= 36 months

1 1 1

3

2 : B
2 4 5
% 3

o

. & T 4 2
+ 7 0 5 6 0
T RE e
He will pay Rs 844,292 in 3 years. Ans
Q7. Zaeem has 1867 lego blocks. His
sister gives him 4 more boxes of lego blocks.
There are 1205 blocks in one box. How
many lego blocks Zaeem has in total?
1
4 8
& 1 B
8 68 3
Sol:  Each box contains = 1205 lego blocks
4 boxes contains = 4 x 1205 lego blocks
= 4820 lego blocks
Already Zacem has 1867 lego blocks.
Total lego blocks = 1867 + 4820
= 6687 Ans
Q8. Observe the given patierns, identify
the rule and write the next two terms.
(a) 3915121, ,
Sol
3, 9 15 32, 2K\

CAA AN A

6 46 #6 6 16

So, the rule of pattern is adding 6. Ans
The next two terms are 27,33 Ans

wo-—=

2 0
6 7

(b)  100,90,80,70,60,  , .
Sol

100, 90, 80, 70, 60, S50 40
=10 -0 -10 -10 =70 Vo

So, the rule of pattern is subtracti
The next two terms are 50, 43.“: .:::sg .
g)l 12,18,24,30,36 -

0

—

12. 18, 24, 30, 36, 42 48

oA A A A

+6 +6 +6 +6 +6 +6
So, the rule of patiern is adding 6. Ans
The next two terms are 42,48 Ans.
@  2,10,18,26,34 _
Sol
2, 10 18, 26 34, 42 50

+8 +8 +8 +8 +8 +8

So, the rule of pattern is adding 8 Ans.
The next two lerms are 42,50 Ans.

(e) 106,95,84,7 ,62 v
Sol
-11 -11 -11 =1l -11 -1

So, the rule of pattern is subtracting 11. Ans
The next two terms are 51,40 Ans.

“__—_——_—-—_—
Unit 02 (FACTORS AND MULTIPLES)
Exercise 1 (TB pg 39)

1. Mark the given numbers divisible by 2?

D~ @ 2 - Cm
H OB
2. Mark the given numbers divisible by 3?
. o f 4 i
OJOROICESRS
3. Mark the given numbers divisible by 57
oJoNoIckS

:b’Encircle the number that are divisible b/
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1mes

- F
a b gt -
Jai ‘g ol

. e —
(: P 'JO' I
r ! 1
{3

Exercise 2 (TB pg 42)
Q1. Write all composite
between 30 and 50.

- Sol:  All the composite numbers befween
30 and 50 are

32,33,34,35,36,38,39,40,42,44 45 46 48 49,
2. Encircle the prime numbers

numbers

117

@ [15 [®D[31 T© [42 @67

|11 [ [52 [(@ |98 L(h)y| 89

Q3.  Write the first 15 prime numbers
Sol:  The first “15™ prime numbers are
2,3,5,7,11,13,17,19,23,29,31,37,41,43,47 Ans
Q4. Identify the composite numbers and
colour them.

|11 219 31 | 41 61 |71 ¥

2 [F12:1°227|7321|427 1427 1

3 113]23 ‘333 43 53 73 | 83
“44°141°24°1734 | 44> ;
15 |25/ 3545 : 53
26:-1116:°26]736: 146" i

7 {17 |5274] 37 | 47 67 377
-871:187:287]/38: +[8871<9
95119 | 29 [39; 59 79 | 89

10 1:20%]°307%}-40; -

s

?; Find the factors of the given numbers.
o 12 '

Sol 12 = | w: 42
= 3 x 4
= 4 x 3
= 6 x 2

97 |

Mathematics-4
= A% e 3
The factors of 12 are: 1,2,3,4,6 and 12 Ans.
(b) 15
Sol I3 = 1 % A8
o %, §
= 5 X 3
= 15 x |
The factors of 15 are 1,3,5and 15 Ans.
(¢) 32
Sol 32 = 1 = '3
= 2 x 16
= 4 x 8
= s x 4
= 6 x 2
= 9 % ]
The factors of 32 are 1,2,4,8,16 and 32 Ans
@ 10
Sol 0 = 1 x 10
m 3. X 3
e . R
- 30 . ]
The factors of 10 are 1,2,5,10 Ans
(e) 27
Sol 21 = 15 = 2
w: 3 X 9
- .% 3
- oy % ]
The factors of 27 are 1,3,9,27 Ans
m 22 |
Sol 2 = . X 3
= 2 x 11
= 1] x 2
e 7 T
The factors of 22 are 1,2,11,22 Ans
® 6
Sol 6 =- 1 x &6
= 2 » 3
= 3 x 2
— 6 x |
The factors of 6 are 1,23and 6 A
(h) 49
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Sol 9 = 1 * 9
= T x
a A % )
Factors of 49 are 1,7 and 49 Ans.
(i) 40
Sol 40 = 1| x 40
= 2 x 20
= 4 x 10
= 5 b 8
= 8 x 5
= 10 x 4
= 20 x 2
= 40 x 1
The factors of 40 are: 12,4,5,8,10,20 and 40.
(i) 38
Sol 38 = 1 x 38
= 2 x 19
= 19 x 2
= 38 x |

The factors of 38 are 1,2,19 and 38 Ans

Q6. Find the first ten multiples of the
given numbers.

(a) 3

Sol:  The first ten multiple of “3" are

3,6,9,12,15,18,21,24,27,30
5

Sol:  The first ten multiples of “5™are
5.10,15,20,25,30,35,40,45 and 50

c) 8

Sol:  The first ten multiples of “8" are:
8,16,24,32,40,48,56,64,72 and 80, Ans.
d 2

Sol:  The first ten multiples of “2” are
2,4,6.8,10,12,14,16,18,20 Ans.

e 7

Sol:  The first ten multiples of 7 are

7,14,21,28,35,42,49,56,63,70 Ans

mn 6
The first ten multiples of 6 are:

. 6,12,18,24,30,36,42,48,54,60 Ans

@ 4
Sol  The first ten multiples of 4 are:

4,8,12.16,20,24,28,32,36,40 Ans
®™ ?

0.18.27,36,45,54,63,72,81,90 Ans

,I_'EM'——-_———“\
Exercise 3 (TB Pg 46)

Find the prime factors of the giye,

Ql.
numbers.
a 17
gio)l 12117
1
The prime factors of 17 are 17 and | Ans
b 21
o 3 | 21
4 B
1
The prime faclors of 21 are3and 7. Ans .
(¢) 34
Sol 2 138
11 |7
]
The prime factors of 34 are 2 and 17 Ans.
(@ 18
Sol 2 .18
2 1%
3 13
' 1
The prime factors of 18 are 2,3,3. Ans
(e) 44
Sol 2 44
2 1"z
: 11 ) 3
: - ]
The prime factors of 44 are 2,2,11. Ans
mn 33

11 | 11
: 1
The prime factors of 33 are 3,11 Ans
® 4.
Sol

a3
a1 32
|

The prime facto
o 14 rsof 4 are 2,2. Ans
E

Sol

14 |

i
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1 4 E¥ =16 x 3
F]),gpnn;; factors of 14 are 2.7, Ane T ; =32 x |
i - % 1
Sol [ & 1.4 Factor of 24 are ; factor of 24
2 | 24 1,2,3,4,6,8,12,24 1,2,4,8,16,32
2|12 Sol- 1B = i A%
2 6 - g 'z §
3 |3 .
|
; = § x 3
;jj‘hcpnn;; factors of 48 are 22223, Ans o 18 e |8
)
Sol 3 | 39 -0 * 1
13 13 Factor of 18 are | ,2,3,6,9,'8
1 So, the common sector of 24,32,18 are 1,2 Ans
The prime factors of 39 are 3,13. Ans (d) 1“'30 4 20 -
Q2 Find the common factors of the o & ,
given numbers. >R =g m %5
(2) 6, 18 w7 x 2 i
S0 6 = | x 6 . I8 =1 x |8 = 4 x | = § x5
- 2 w3 - S R - 1s Wos
= 3 % 32 = 3 x § =30 x |
= 6 x 1 = 6 x 3 | Factorof 14 are factor of 30 are
' = 18 {A.1 1214 1,2,5,6,15,30
Pk it B Becsioi of Had So, the common factors of 14,30 are 1 and 2
0 Ans.
1,23,6 1,2,3,6,18 ()  7,21,28
So, the common factors of 6 and 18 are 1,2,3,6 Sol 7 = 1 x 7
Ans Factor of 7 are 1,7
(Shu)l S ey IR 1. 3 Bk ' el
10 : ] > , el 'J = 3 x 7 - 2 x 14
iy W m 4R 2 -3 *9 " & Y
: 2 I =5 x 4 ok L " b
- 0 X s W , = J4 % 2
=28 x |
F factor of 20 are
|3‘2Clsorlsﬁof 10 are 1.2,4,5,10,20 | factor of 21 are factor of 28 snre
20 are | 13721 1,2,4,7,14,2
?oz’,s“l'; :::;nmon factor of 10 and 1 So, the common factors of 7,21,28 are 1,7 Ans
(c) ’ 24.32,18 M i 2 =1 x 25
M e §f el YN~ *S
= 3 ¥ 12 o - : 136. = 2 x 10 -§ =3
S3esl zifl]  caea] eme
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T AR w15k R Factors of 12 4re
= j§ *3% = 30 = | 1,2,34,6,12
= Factors of 30 are
=0 0 12,3,5,6,10,15,30

Factors of 20 are factors of 25 are Q3.  Find the first common multiple of

1.2,4,5,10,20 1,5.25 the given numbers.
1 = | w13 (a) 3,5
= 3 %3 Sol:  The multiples of 3 are
= 5§ % 3 3,6,9,12,|15 18,21, 24~~~
« |15 x 1 The multiples of 5 are

Factors of 15 are 1,3,5,15
So, the common factors of 20,2515 are 1,5
Ans

(g) 48
Sol 4 = 1 x 4 § = | &« §
-2 x 2 = 2 x 4
= 4 x | = 4 % 2
- § x |
Factor of 4 are factor of 8 are
1,2,4 1,248
So, the common factors of 4 and 8 are 1,2,4
(h) 13,39
13=1 %13
=13 x ] factorof 13 are 1,13
19 = | x 39 Factor of 39 are
- 3w 13 1,3,13,39
= 13 % 3 So,the common factor of
= 39 x | 13,39,are 1,3 Ans
(i) 5,30,12
§=1x35
=5x} factors of 5 are 1,5
Sol 3 = 1 = 30 12 =1 x 12
.. 5 2 x 6
= 3 x 10 = 3 x 4
=@ . - u 3
. s = 32
= A & )

510,015 20,25~~~
The ﬁr;?l' common multipleof 3,5 is Enns.
(b 912

Sol:  the multiples of 9 are

9, 18,27, 36, 45, 54, <~ -

The multiples of 12 are 12, 24,36,48,60 - - -
So, first the common multiple of 9, 12 is
Ans.
()
Sol
10, 20, 30, 40, 50, 60,
The multiple of 20 are
20, 40, |60, 80, 100, - - -

The multiples of 30 are

30,60, 90, 120, 150, - - -

So, the first common multiples of

10,20,30
The multiples of 10 arc
70, 80, - - -

10,20,30 is 60| Ans
(@ 12,22
Sol:  The multiples of 12 are

12, 24, 36, 48, 50, 72, 84
2,24, , 96, 108, 120, 133

The multiples of 22 are
22,44, 66, 88,110,132, 164, - - -

S : ;
ﬁ t::;s '.im common multiple of 12 and 225

() 84,16

Sol: The multiples of 8 are 8%24.32,40. ot

8the multiples of 4
: are 4,8,1216,20,24,- - -
';he l:1m.1l‘l|pl~*-.s of 16 are E, 32,48 64'2- e
0, the first common multiple of 8,4,16 iS@
0  51,17,34 B

Sol: :
The multiples of 51 are 51103} 153,

The multiples of 17 are |7,34.51'53'35@1 &
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The multiples of 34 are 34, 68,10
go, the first common multiple

@Ans
gj T,hc multiples of 7

- 0 are 7.
- (4 21, 23,
The mulhples of 14 are E 28' 42,56, ...

So, the common multiple of 7 ang 14 is @
Ans
@ 615
Sol:  The multiples of 6 are 6,121
ol 8,240
The multiples of 15 are 158045, - - .
So, the common multiples of 6,15 is E Ans
(i) 2,510
Sol:  The multiples of 2 are
2,4,61& Ep ]21 |4s 16}"'
The multiples of 5 are
5,[10, 15, 20, 25, - - -
The multiples of 10 are '@0,30,40,50, .-
So, the common multiple of 2,5,10 is[10) Ans
Review Exercise (TB Pg 48)
01,

- - .

of 51,17,34 s

Choose the correct answer,

121

fa) | 13isa number.

() | Composite (ii) | Common

(iii) | Multiple (iv) | Prime ¥

®) | If of the all digits of a number
divisible by 3 than that number is

divisible by 3. .
(ii)

(i) |Sumv Difference
(iii) | Product (iv) | Quotient

(¢) | Prime factorization of 24 is:

[ Gi) [1x24

(i) |8x3
(iii) | 2x2x2x3 v | (iv) | 2%6%2

0 |

1 (i) 2v (i) 4 (iv) 8

(W_| The common fuctor of 2 and 41— _

(€ | The first common multiple of 5 and 10
is

0 |5 107 Gi) 20 (iv) 50

Tﬁ- Use the divisibility rule to complete
the given table below.

Mathematics-4
12 v | x i x
@milﬁ v Y » x
c) 5409 | v - x x
W | v X v | v
81810 | v v | v v
(Q 912 v X x x
9 swn | v X 4 v
2134 v X | % | x
Q3. Write the first 12 composite numbers,
Sol:  The first 12 composite numbers are

4,6,8,9,10,12,14,15,16,18,20,21 Ans

Q4. Write prime numbers between 21 and
60?
Sol: 23,29,31,37,41,47,53 and 59.
QS. Find the factors of the given numbers.
(a) 10
Sol 10 =1 x 10

= 2 x §

- 3 = 3

= 10 % ,]
Factors of 10 are 1,2,5,10 Ans
(b) 25

(d 46
Sol 46 1 x 46
2 =23
R &

| 46 x 1
Factors of 46 are 1,2, 23,46 Ans
(e) 23
Sol 23

U I
L
W

(0 16
| x 23 6 =

1
=23 x | = 2
Factors of 23 are 1,23 Ans - 4

x |6
x B
N &

e —
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= 8 x 2 2___2%_ —-—..___L
2 |1 |
=16 * | 5 | 5 The prime factors of
Factors of 16 are 11 21 are 3,7 Ans
1,24,8.16 Ans The prime factors of
\ _ p (h) 47 40 are 2.2.2,5 Ans 5 50
k 124 Mlthem:tiﬁ | Sol 2 | 3
kd7s, - - - =10 =12 i 3 s
joo, - | 4.4x2_8 LI LU BNy
’ S 3sx2 10 12 12x1 12 - T
18,24,30,36,| 9 9x1_9 3_ 333 tors of 8 The prime factors of
10 10x1 10 4 4x3 12 30 are 2,3,5 Ans
6 9 )] 38
8 i P
Since, -I-E-(]—o- Since, |2<I2 L Sol lzg _%‘
175,--- 49 52 — —l D
g . ﬂ""'— = 4 |
M 339 2 2 ctorsof The Prime factors of
\ns) @ 1 s (e) . 3 i1Ans 38are2and 19 Ans
59) { the 7 ; 2 ; | the common factors of the
actions o . < Sol: =[< = ers.
Sol: ~ < - ° - '
14 717 . 8 319 .6 1 x4 20 =1 x 2
9'9 2|1 , 8 3L AY 2 ? x 2 = 2 x 10
23 2 1 , 4 2 L , 2 4 x | - 4 x §
8's 2 [ 1, 2 1 , 1 dare - 5 x 4
5 2 2|1 , 2 LCM =3 x 3 x 2=§ 10 x 2
9'7 1, 1 2 2x2 4 20 x |
i same| LCM=7x2x2x2| 9" 9x2 18 factor of 20 are
ion. =14 x4 LCM =56 § $x3 15 1,2,4,5,10,20
| denominators | 1 _1x8 _8 T \ factors of 4 and 20 are 1,2,4 Ans
7 1x8 56 4 T 3 . .
fractions and| S 5x7 3§ ﬁ<ﬁ - 6 24 =] x >
$ 8756 - 2 38 -y =3
L} = ”
1.2 llt‘:l!.-—s—-ci:E 533 P8 x 2 =4 x b
3 6 56 $6 ‘16 x | g
- g8 24 are -5 x )
I 6 7-8 48 16 -2 x !
!--3- = 24 x |
6
3 0 ?!i 2 le Y Factors of 24 4%
6 T 3—4 1,2,3,4,68,12.24
Sol: 28 s 1! \ factors of 16,24 are
= - > |-
] 3 2 l122 ! 3—H :ﬁ, 14
] T 2|3 . 4 , ,
‘ 2|6 7 3 1 x28 66 = | x5
12 . 4 — ] ; !
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e 174 o ; .9 " l: i F“ﬁlﬁﬂﬁlom
5 $ = 2, 10
=28 x | e 't 20 = 1 x 20
14 x 4 -
" . 3
£28 are s * 1 =1+ 3
Factors O actors of 56 are s
= 10 x 2
ME“*E“ G EL@“,E. 3»@.28,56 =20 x
o 14 = 1 x 14 . Factor of 20 are 12,4, @,10,20
= 2 x 7 The common factors of 5, 10, 20 are 1,5 Ans
- & N3 Q9. Find the first common multiple of
il the given numbers.
Fnlorofl‘imlilamm,amm (a) 2,7
The common factors of 28, 56, 14 are 1,2,7, 14 | Sol:  The multiples of 2 are:
@ 17,34 2,4,6,8, 10, 12,14 16, 18, - - -
M iT=3 s 34 = | x 34| The multiples of 7 are:
- e = 2 x 17| 7,[14 21,28, 35~
Factors of 17 are 1], [17 = 17 x 2| The first common multiple of
= 34 x 1| 27is[i4Ans
The common factors of Factors of 34 are (b) 6, 10
Ntare ), 17 Ans 207334 | gol.  The multiples of 6 are
© 12,6, 13 s ] 67218,24.5036,42,--- |
Wz o= 1ox 2 6 T % 3| Themuliples of 10" are 10, 20,58, 40, 50, - -
w4 a0 -3 ue Thcﬁrslcommonmulhpluo%and lOI!E
okt oot 3 s £ (%711 (©) 12,14, 18
g X 2 Factors of 6are | Sol:  The multiples of 12 are ;
=12 % | 1,2,3,6 12, 24, 36, 48, 60, 66, 72, 84, 96, 108, 120,
Factors of 12 are 1, 2, 3, 132, 144, 156, 168, 180, 192, 204, 216, 228,
4,6,12 240, p52] 264, - - -
o 3= 1 % 18 - The multiple of 14 are
- X = 9 14,28,42,56,70,84,98,112,126,140,154, 16818
“ 8 =9 2,196,210,224,238,252,266 .
= 6 ¢ ,3 The multiples of 18 are
- 193 : f 18, 36, 54, 72, 90:%} 126, 144, 162, 180,
: I?mmm I'actors of ‘2 6 18 are ’(]‘:)e ﬁrstlt;or;uomon multiple of 12, 14, 18 ll@
osAm Sol:  The multiples of 15 are ls,:] 45, 60,
5 -
The multiples of 30 are §0,60,90,120, - - -
( The first common multiple of 15 and 30 is
Sol 55'12’2?",. 5 g =L 7 'S°J (¢  5,1520
- 5 x | - : 5| Sol:  The multiples of 5 are
Factors of 5 are ch i ROl 5.10, 15, 20, 25, 30, 35, 40, 45, 50, 55,60}, - - -
1,5
—
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EKT 56 1 Ta 125
g = — 1 _1Ix4
="12x7 B4 3-m=% o Matl;mﬂu.‘
5 5!12 60 _l_=]3(3 3 E =_9,_
7"'2 :; 4 _-;5:.?'2' _10+5 3+3
6 L3 ==y S5 sm——
mé; 7 Since, 3., 3 lzhs ?ﬂ
12 e
18 Sl e i
o) 4 e 16 25
l: 710 Sol: :::; Sol: ,=ls+5
A e 25+5
1n—o _6 [ o
2. 143 .. 10 8
FRE B .82
Wil = 3 842
I ! =§-Am-
LCM = 2x5xll - 4 e
=10x11LCM =110 2%  gouan K.
4 4xl0 40 {3)14 24+2 () 18
=£ 4+2
1 1x10 110 = Sol:
18+2
1 ?xll 77 §:2
lI‘.l leII 110 1242 =zAm
40 770 .i 9
IIO llO 46 w3
4m 77 +
— —
nllo 642
Q3. Write the following fractions into == Ans
simplest form. " 14 -
(=) ] (b) 2 0 20 )] 3
- ] Sol: 14+2 Sol: 17417
Sol: -A4+2 s G Oa " T 2042 R YYS T
20+2 1242 9
=}_ - =I—°'AII3 == Ans
10
=2+2
10=2
|
-;Am Q4. Encircle the proper fraction of the
(v) 30 @ 9 given and tick (v ) the mixed number.
e Pyl |
- . OF @ @i o
SDI: =30+3 Sol: _?:-.g_ '
45+3 27+3 O i W, i —
ey N o/
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l Dyl =
N} @F @i 03 O : i
Q5. Convert improper fractions 10 =3_?-Aru e ‘l'l"'"“
mixed number. : , ’ 4
® 3 ® 5 © 63 ® 253 _
'S
% 2 R )L PR
sy Sol: = 13
sol: P . Sol: "Ly s 26+4
__2_ e — IB+| = ——— Ans
3 ! 2 9 3
8 13 U o2l dns 19 230,
_ b 5 8 = An |
o 2 " Q7. Write the given fraction in
10 9 ascending and descending order.
: - 333
Sol; 1913 Sol: /3¢ @ 397
- = sd 560,09 . 7
2 Sk TR o & 5]
13 120 ';"2—4’“ L, PR B
10 10 T
(.) E i > 1 ’ |
‘ 2 LCM = 5x3x3x7 =15 x2l
‘ 7 LCM =315 -
Sol: %3 3_3x63 189
o 5 5x63 315
x 3 3_3x35 105
—=7-4 9 9x35 315
: . 3. 2%83°. 138
Q6. Convert mixed number to improper | == =
fraction, 7 7Tx45 315
3 5 Ascending order i 333,
a = . = g order in s
" W 5 9°7° 54
Sol: X3 o _(7x6)+5 | Descending order is 333 b
3 , 6 5'7'9
=|0+3 =42+s (b) 3'1’2
5 6 437
13 47 Sol 2|4 L L 7
= — A e LA '
s Ant o~ Ans § ? T .
' G2 = 9
c d= 3 s
© 7 (d) n L4 ) = %
‘ 4x7)+1 e R
Sol: =L?L_ Sol: =!LI)+3 LCM-2!2K3)€7 =4x2]
7
_ LCM =84
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. ﬁ 84 l=(l>¢2)+]
1, |x25 28 2
]xl’s K . ?_*i_l
i 6x12 _ E ke
12 -84 e =-2-kgfln:
rder in - -
wﬂdmg » 3137 ns Exercise No. 2 (TB PG 63)
A 631 Ql.  Solve the following fraction and
pescending order is 717 Ans write the answer in simplest form.
32 4 W
puc B wC
(‘) 5'|0'|5 Sol_ -; : 1
Sol ; -;’ 2 ;0 y ;5 . 7)? ;
3T i - -
¥ &4 2
LCM = 5x2x3 =30 -I;Am -
12N> () 1111 wC
5 5x6 30 TRT] [
L Soly . 11+11 13) 22
10 10x3 30 T -13
) | » 0
15 15x2 30 E]
. " 2 4 3 9
——A =]—A
Ascending order in 10°15°5 ns . ns
. e 2N . 3.1
Descending order is . e -EAM ThET
Q8.  Ali have three full and one llalf Sol:  5+11
pizza. How can write this in mixed number? 17
16 "
- . =—/Ans
0000 |.°
| 1.8 =
®.  Mabad b 1—kg of mangoes. I e | WE
Racrasac S 18 |gy 548
rite thls in improper frachon 15 ' 16
Sal; ‘ -3
7 1042
EEAM 16+2
s%.ﬂu
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R o: =—
U %+% por 313 l
I
2-1 2
Sol: _2+412 s =T§'m
19 |
14 =— Ans
Q2.  Subtract the smallest fraction from | Q3. A painter labour l—ipﬂrl of the wall
the greatest fraction. ;
(@) 23 (b) 3T in one day and T the second day.
2 32 l-,l : ll (a) How much wall he paints in two days?
Sol: =3-2 Sol: = —-— & : (3
3 3 1o 1" day paints the wall = — o e
%3 7-1 Y B
= ST > ; 3 743
2™ day paints the wall = s e
-%Am =— /Ans K ﬂ
17 7 15 13
(c) _1_2 (d) —_— e 10
llzl ' . 2'| 52' " The labour paints T parts of the wall. Ans
" "7 12 Sel EETHET] (b)  How much more does he paint on
=1 15-7_8 the first day?
n 5 =y s i
4 a2 Sol:7-3=7 3--4
T = O E G < Sl
& 4+:4 4. i f - — l
o Q4. = of artificial fertilizer and — ke of
. natural fertilizer have been used in a field.
3 How much quantity of both fertilizers is
W 23 0 % 4 used?
$3 10°10 Sol: Used artifici R 5
i 4 8 a3 W : Used artificial fertilizer in ﬁeld=_ ﬁkg
s * 1010 e
4-3 Rk Used natural fertilizer in field = ¥ kg
% 4 o g % 16
=-:-An: = 4 3 TE % -l—
a 547
16
i 12_3
=3 16 4
2 1 3 &
(2) QT (h) _1_55% 7 kg of fertilizers is used. Ans
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05' Sabﬂ did her math homework in ..2_ Sol: 9_ 4 Sol: 9,‘2
) _ 10 e ' 6
pours and h;r sister  did her math & & @ 5
Wme\\’*’fk in o hours, How many hours Y “Tx?:
: 24 15
gid both take to complete their homework? N T""" '?A"’
Sol: 3 g
gaba’s () T @ 3
: 2
{time on Maths HW = = |
- T Sol: %x I Sol: = %x 6
gaba's sister spent time on Math H.W = 1% 3 M _8 £
10 ——x— -F” 1
hours. A g2
2 ; 7 =13x1 = Y |
0 10 =|3Ans 16
L) 3
0 % &
9 () o2 " =
=— hours 1 6
10 Sol:  x2 Sol:  ==x]
They both to take 2 hours to complete their
10 __,Lx!_zl_ = -6-A ns
homework. Ans - T
Q6. Shiraz and Omar invest money in a L
business. Shiraz gets %shnre and Omar f '
== Ans
gels -:—-ql-share of the profit. Whose share is 3
more and how much? 7 2
E ’ 10 | ® |—|'-2 (h) 33,1
Sol:  Shiraz's Share =I_f Omer’s sham=ﬁ . .
,19__7_ Sol: HN 2 Sol: = 3-3-)¢|
L, wtyd 11
-7 3 BT o
I 2 | |' -EAHS 11
Omar share is more than Shiraz share and T = Ans
3
m shares
Q Exercise #3
H B:“'ﬁl’l}' the following ; Q2.  Solve the given fractions.
@ 24 I ®) 9% 6,3 ?
7 6 (a) 2% (b) 170
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., &3 . Ak y ey Sk el
Sol: 2: 7 Sol: “x I, Sol: }1{ 7 "
i3 Al 1k
3 9 Ex B
=— Ans = = ANs 4 L
5 9 | -
B ATOY b d T=xl= 15
(c) 173‘ p () y ( (e) E.@.? {f) E->2|
3 15 =
o TS Sol: =-‘$7—6x% ):{ 7 Sol: =lz-;+2—ll=
Sol: wi—+—
=.4—S-Am . M l 3
68 B ’ , B
7‘, 4 =Z_xl 20 2f
=333 s 8 A i %
28 £ 1
. - 8 5 3 == Ans - e
Exl=x= —x3—x= 7
¥ 9" ® BN ?
. £ 415 i
Sol: 9 x‘-‘ KG Sol: EXHN? 4
-lxﬂx-—s—: ’2 41 5 =LAM
iy TR '8 B
55 (g) — 3
=4
W Sl et i =%"%
17410 31010 : ¥
! 77 : 4 |
. R = o Ans 3.1
Sol: ?K:ll— 10 a-a-x? =-I-Ans
' 4
Q3.  Solve the following :
l_ 2 (h .|_4_.-.|3 =.?. l
7 2 2 s L
Sol: = —— Sol: -—p ; M 18 =— Ans
20 1 15 1 Sol: =?+T 162
| 34 ;
% 2 125 5 Q4. If the weight of 5 packets of sugar 4%
‘iﬁ“"’ =§A"" kg then what will be the weight of 1 packet
20 21 sugar?
¢ ot .
(c) _3$+9 (d) E_3
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. To find th i 131 i
Sal: 10 o ¢ w;:lght of 1 packet of[ ’ Mathematics-4
gugar; we will divide A<kgbys, =48 s el
: 9 6 -
4—45 ey :
N 3 5.5
s e £ "
¥ R w2 Ans
39 1 e *
e . (b) If he distributes these packets
39 b ¢ amount 9 children then how many
- ;b-kg packets of candy child will share get?
|
‘ Sol: ket =4—
Weight of 1 packet of sugar is 22 kg. Ans W "SI - 2
40 Number of children =9

Q5. Ayesha’s is age-lz- of her sister’s age.

{a) If her sister is 20 years old. How old
Ayesha?

Sol: Ayesha’s age= -;- of sister’s age
l ja
=—x 20 yrs “Of” means
7 to multiply
=10 yrs Ans
(b)  If her sister is 30 years old. How old

is Ayesha?

Sol: Ayesha's age = -% of sister’s age

To find that how many packets will get
each child, we will divide 4% by 9.
|

|
454'9 =%x%
% ;
2 akigh
&3
=—I-Ans
2

Q7.  The distance between Hamid’s home
and Masjid is 2% kilometer, if Hamid goes

to Masjid for the five prayer then how much

bt )I:j’ yrs distance he covers daily?
Z Sol:  Consider the figure
w |5 yrs Ans
yr g = i >
Q6. Kamal will distribute 4> packets of | - o ‘ .
i ciaies Hamid's Home Masjid
¢s among 6 childrens. 5 x [Home to Masjid + Masjid to Home]
(®  How many packets of candy will R ! Jn
tach child’s will get? 3N 1;'*2;] 52
Sol:  Total Packets = 4% Sx.” 117 { :
sid i [ HgET Y |
Number of children= 6 _— =23
To find that how many packets will get|| _ 5] 11411 %
. - - I
®ach child, we will divide i by 6.
Hamid covers 33 km distance daily. Ans
— 2 — ———
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Review exercise (T Pg 69) Sol: —|> |5 Sol: —|> T
: : Pe 10) 10 7 13
Review Exercise 1 (TB Pg 10 - 2|13 12
Q1.  Choose the correct answer. 2 : — 15 : <
(a) is an proper. 3 I 5 7 * |83 4 3
M |5 | | o T8 T )
- 4 : 4 LCM:ZKS x 7 1 o
@i [ 1, (V) : B LCM = 2x2x3x13
2 =50 = 4x39 =156
() | ______isanimproper fraction | L::M%? e 6 6x12 72
. - l s Yl — =
M |5, () | 1 s " 13 13x12 156
i) | .S (iv) | 4 d e 12 12x13 156
(i) = > 7 7x10 70 12 ;2 :
g By Sigee, ——>—=
(c) %4% is equal to. . 70° 70 ; '5:53 156
— 5 Sk B
@ |1 (i) | 3 9]%',‘ =325
4 4
- 6 8 1
(iii) [ 1V (iv) | 2 (c) % TH o .
1.2 is equal fo. N s=7 il 2
8.6 __ " SENY 2|9 o3
ONE (i) | 2 ld 39 2
1.6 1.0 | R S L0 =
(iif) | 1 )5, LCM=5x11 Y & 4
6 6 =355 LCM=2x3x3=
© The product of - and Sis ~_ . L 8_8x2 16
: 6 _ 5 5x11 55 9 9x2 18
ONEn GREN 665 30 1 1m0 9
- ;5 fa 7 | Il 11x5 S8 2 2x9 18
35 v) ! 35 33_30 169
o0 o Since, ==» = L5
7 | 6 e’ 5 s T
. 36 89
Q2. Tick (v) the like fractions. =skhs =olls
ety pi6d as 3N
9’9’9, 71171 17° 23"
Hdll a1y ERL Q4.  Write the given fractions into
1414’14 13’57 “'10’10" 70 simplest form.
Q3. Compare the given fraction and 52 17
write symbols of <, > or =, (@) 18 (b) 51
9 5 6 1 52+2
(s — = - B Sol: = .
10 7 (b) 13 12 2 1842 e 51417
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9 B S _5+3 3045
9 5 10
A d 22
‘f} 19 4 ) () 33 =;Am s%%jju
ot 3 SR | g 2 . :
simplest 10110 33410 w W s
2
"3~ Sol: =———(6"?+4 Sol: =(2x: L
Encircle the unit fraction an
(v) the improper fractions, L 2244 18 ;l
7
9 1 7
g E he =2 tns s
7
1l 1 Q8. Write the given fraction in
L i ascending and descending order.
Q6. Cm;’m the improper fraction two | (2) %%%%
umbers.
Mny 1 N 2 IR/7:"2 o<t g B
'(I} -s" (b) e 2 |4 3 7 ’ 7 ’ 3
' "l 17 o1 ] .3
- B .. 8 . ok
Sol: sﬁ Sol: 8)-'—' g 1T 5 1 oy
=3 .. § =% +F .3
: ’ LCM =2x2x2x3x7 =8x21 =[16§
7 .2 it 33 4 4x21 84
- |- ""'-‘—"]"m - = —
ISAM g8 .8 8 8x21 168
17 5 S _5xB4 420
6 8 L 2 2x84 168
4 1 6 6x24 144
gn 4)s 7 7x24 168
. - 1 1x28 28
l 7 6 6x28 168
L 3 1465
T=4- Z=1—Ans ) 2 —,—,—,—Ans
g 4 Ascending orderin 687 2
: : 5641
?7. Convert the mixed numbers to | Descending order is E,;,E,E.ﬂlm
per fraction. ;
3
W a2 ® ‘¥ ® 2223
3 3
g Ix5)+3 (31043 lgy 30 .9 .6
F ey TR
e
"“-.‘__-
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LCM = 3x3x2 =[I e v 12
2.253 & | ' )
9 9x2 18 =‘-1-=mAns =-‘P§-=14m
g _8x2_16 z %2
9 ox2 I8 49
5_5x3_15 (c) 2.;. (d) 9
6 6x3 I8 53 3
I--.'-“—6-2- so[2+i Sl)]: =;+'6
3 3x6 18 53
ding order is Eliﬁﬁns B o) =§£
Ascending 3'3'6'9 e 9
10
Descending order is %%,%,% Ans = !53 Ans — Ans
| 4735
© %770 Q10. Subtract the given fractions
8 31 a8 93 3. 2
g is ¢ .8 & 3 ¢ 3 (@) 10 10 (®) 13 l3_
I R s 3 2 8 & W g 9-3 . =8-2
3 ] 3 . 3 " 5 ; 'I Sﬂl. —W S‘O]v '1'3
5t & Lo 0. ) ) p
R TS i . i
LCM =2x3%2x3x5 =6 % 30 )9’
LCM =[18d .
4 _4x15 _ 60 =§Am
12 12x15 180
6 1
7_7x10_ 70 AT @33
18 18x10 180 61 4—3
3-_* Ix18 e 54 Sol: =_|-‘_]“ So: =___:__
10 10x18 180 . L
5_5x30 150 === dAns =%Ans
6 6x30 180 \
, , 1475 Q11. Multiply the given fractions.
Ascending order is T Y 9 - S0
' 101271876 (a) " (b) e
Descending order is é,l,i.—}— Ans 9. 7 n
6'18712°10 Sol:  ==x-— Sol: A6 9
Q9.  Add the given fractions. :31 S TR
W =2 o 22X =— Ans s
33 12'12 ’ —_—
g A3 . 91 9 _23.9_207
Sol: 3""3 Sol: .E+E llxs 55 Ans
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© 2% (d) 3%31_“.’_ ¢ 2% 1
k. b 71 i 14 12 12
s: 279 Sol: 25 19 alt?
_1xTI 1M e
ey " 19 .1
::—7—1 Ans I _2‘ ";{
18 95 ‘
-'572"1‘1"3 =-3-A"3
N B (N %ﬂ, Q13. Hania has | Q14. Jamal Read
n lzim ribbon, She 2 of 140 pages of a
5 ,m' SUI: =l.§.-?.. 14 7
Sol: =';""T 8 1 wants to cut it into | book and Ferhan
’“ .5 8 cqual pieces. | reads 2 times more
5 o . What will be the | pages than jamal
=/_)‘T 1 length of each | How many pages does
2 Y Ans picce? _ Ferhan read?
2o Sol:  Total Tength | Sol: No. of pages
2 3 - Ferhan read =?
5 y<Th ds = Zof 140
"'_6"4"" No, of pieces = 8 e
Length of each | pages.
(&) 4%*' picce=? d gz 0
55 To find the length of =7*W pages
Sol: :-Emu each puacee:,H we wan = 2520 pages = 40 poges
divided ‘?I—4b}' 8. | Jamal reads=40 pages
7 Since Ferhan reads 2
Q12. Ina garden Eof thoyrecs are PRI times more pages than
9 of - Jamal, so 2x40 = 80
mango trees. In another garden . LA pages
14 1 Numbe f
th : w man umber 0 pages
¢ trees are mango trees. Ho 5 y 176 1 Ferhan read is [8] Ans
mango trees are there altogether: =
Sol: In this case we will use the process of 4 £
addition, *
M,
(4]
=-—n
W |
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- * = (.4 Ix1=7
Unit No. 4 4x 0.1 .
(Decimals) (iii) 5 is at hundredths | (iii) 3 1s at tenths
Exercise No 1 (TB PG 76) place, place value of 5 Place. place value of 3
- . . iS; 1S}
Q. Write the given fractions in} % 0. 0. Pl Y-S il
decimals. I (c) 99.999 (iv) 9 is at hundredihs
(a) k.3 (b) — (i) 9 is at tens place, place lhen. the place
109 i place value of 9 is; value of 9 is
Sol: = 0.16 Ans Sol: =0.1 Ans 9% 10 = 90 9 x 0.?_1 =0.09
31 A, (ii) 9 is at ones place, | (V) is in the
© 1000 © 100 place value of 9 is: thousandths plac,
Sol: =0.324 Ans Sol: = 0.02 Ans 9x]=9 place value of 1 is;
70 1% 0.001 = 0.001
© oo (iii) 9 is at tenths
Sol: = 8 place, place value of 9
" 1008 is
4 9% 0.1 =0.9
s SUSEA (iv) 9 is a hundredths
Q2. Write the place value of the E::'ace, place.value of 9
coloured digits. ; y
(a) 1.56 Sol: Place value = 0.5 Ans ?\:)‘ g .in;al l(l){c?:san dihs
(b) 45987 Sol: Place value = 0.08 Ans place, place value of 9
(¢) 321.17 Sol: Place value =300 Ans | is: NS
(d) 6897 Sol: Place value = 0.09 Ans 9 x 0.001 = 0.009
(¢) 6340 Sol: Place value = 0.000 Ans | — - e —
(N 12.123 Sol: Place value = 2 Ans Exercise N‘_’ 2 (TB pg 81) .
(g) 78808 Sol: Place value = 0.008 Ans Q1. Represent these in der.:{mal fraction.
(h) 4009 Sol: Place value = 0.0 Ans (a) 24 Sol: = 0.24 Ans
Q3. Colour the given shapes with the 100
help of decimals. 3 o
@ 02 (b)07 @ | ® om0 Sol:=0.005 Ans
(€) 10 Sol: =0.6 Ans .
12 3
N = 3
i (d) - (c) =
Q4 Fill in the blanks Sol; =22 Sol: = 3x4
(a) 745 (b) 87391 ol 2504
(1) 7 is at ones place, | (i) 8 is at tens place, -4 12
the place value of 7 | place value of 8 is; 1000 1000
;s,) 7:! - 7 o ?_’f)lg=80 =0.024 Ans =0.012 Ans
i 15 51 (1) 7 is at ones place, 47
Placc, place value of 4 the place Vﬂluepof . (n = (g) %
is is;
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@ Sol: = .54 L Mathematics—4
sol- “25x4 200 ® 187 (h)  0.98
188 £ Sol: =757 <
" 100 - 100" Sol: =%
= |,38 Ans 3 ud 50
. 1_6 = ﬂ.ﬁlm
=034 ; o
606 oL @ 610 () 11.11
— Sol: 0,606 . 14 1
® oo 000 Ans =6— Sol: = 11— Ans
80 1 SD]: "Iﬂ 100
i i |
0] ;w () 's'l'i = ﬁia Ans
' o — Sol: = --_....._..l x2 - 12
Sol- = o0g 50%2 -
s 2 — - — -
*100 =100 Exercise 3 (TB Pg 83)
=008 Ans =0.02 Ans = e
Q2. Convert the following decimal | Soi; ~ones enths Hundredths
fractions to common fractions. ) 1 I
@ 13 (b) 204 + 5 0 3
3 |
Sol: =1— Ans A 17 : I 4
10 e 9.1148.03 =[17.14 Ans
28 (b) 431,127
1 Sol: Tens Ones . Tenths
A $ 2.a-_
t : 5.5 s ! B : L
" - b o
Sol: = 658 Sel: 43.1+12.7 =[55.§ Ans
516 )74 © 529,22
5 l: Sol: Tens Ones Tenths
i 2 = 5— Ans - 1
o | 2 5 3 . 9
® 0.8 n 2172 - - . 2
" - 5 5 . |
Sol: = % Sol: = 21% 52.9+2.2={55.1| Ans
“ ' 50 (d) 5.69,2.98
" ' " Sol: Tens . Ones Tenths
a K =21 _J_‘L | |
F ] 50 5 6 9
17 + 2 9 8
BT =2l'l%""’ S = B 7
. 5.69 +2.98 =8.67 Ans
()  6.02,1.89
Sol: Tens Ones  Tenths
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s 6 2 S . 7 1 ]
s - 9 9.80 - 1.09 = 8.71] Ans
ST ! M  789-784 —
6.02.3+21.6=[1.9]] Ans Sol Tens Ones . T.ths undredih,
493, 21.6 . '
(S‘ll: Tens Ones Tenths 7 _3, - g 2
' - .
4 9 3 T S
+ 2 l 6 78.9-7.84=[11.0§ Ans
7 0 B Q3. Zubair bought a chocolate for Ry
49.3 +21.6 = [10.9 Ans 45.7 and a candy for Rs 10.2. How much dig
Q2.  Solve the following he spend altogether?
). SH -0 Sol: In this case, wewill use the process of
Sol: Ones Tenths Hundredths addition
3 18 , Price of a chacolate = Rs 45.7
4 ; 9 ! rice of a candy _ =Rs 10,2+
o 3 . 9 : 1al spend amount = Rs 55.9 Ans
0 : 9 9 Q4.  The mass of apples is 38.9 kg and
4.91-3.92=[0.99 Ans mass of guava is 42.6 kg.
(b) 7.34-2.86 (a)  Find the difference between mass of
Sol: Ones Tenths Hundredths apples and guavas.
¢ 12 : Sol: To find the difference between massof
7 . 3 4 apples and guavas, we will subtract them.
- 2 ‘ 8 6 AN
4 : 4 ) Massof Guava= A Z.60
7.34 - 2.86=4.48 Ans Mass of Apple =~38.90
(c)  5.06-2.76 Difference=3.70 kg
Sol: Olres Tenths Hundredihs (b) PRt e bokal i
5 _ 9 6 Sol: To find the total mass, we will use th
process of addition.
- 2 : 7 6 ”
N . 3 0 Massof Apple= 389
06-2.76=_2. '
i’ d?s ‘ 7.28 _%lg;‘"s Mass of Guava = +42.6
Sol: Ones Tenths Hundredths Total Mass = 81.5 kg
1 Exercise 4 (TB pg 87)
7 ’ 8 '8 Q1.  Solve the following.
- 6 | 9 (@  59x10
] : 6 9 : 59
7.88 - 6.19=]1.69 Ans ] o =g =59x1 =[59 Ans
(e) 9.80-1.09
Sol:  Ones Tenths Hundredths (b) 4.8x100
1 ’ 48
9 : 8 '0 Sol:  =—x10g =48 x]0 = {480 Ans
g psgans
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ema
; x1008 =3 x| 0 0
) | 0=
5" 2{]0 @Ans | 14+2=FTAns | 18+9=D7Ans
g LB =82x1= € 64+4 (d 84+6
sl g "Ans Sol 1 . 6 ol 1 4
o 4.3 x 1000 4 |6 4 6 [8 4
- 5
SI'JI: =--u—’-)(|005 _43 XIOO -Ans 2 4 : 4
0 9.1 x 100 2 4 — 4
w =g X10=P10Ans ~ | 64+4=[LgAns |84=6=[i4Ams
Q. Solve the following. () 27+3 (N 26+2
(a) 56x8 (b) 71 %2 Sol 0 . 9 Sol 1 3
p Sl 7 3 3 : 7 > 2 ®
- - 2
Sol 5
" e oL 0 6
i e 2 2 e TN
S4x8=DAR A 203 { 3=s bam 9.8 lzél-: 2: llte Amlm
3 aba uses 9.8ml oil 1o bake a cake.
0 e @ WX 3 How much oil will she use to bake 10 such
3 | cakes? :
Sol 4 9 Sol 3 Sol:  used oil to bake a cake = 9.8ml
o b Used oil to bake 10 cakes =?
In this case, we will multiply 9.8ml by 10.
19 10 9.8ml x10
49x4=019.6 Ans 3.4 %3 =[10.2 Ans 2o wix M
© 13x7 M 98x9 »
’ = 98mi x|
2
Sol 1| 3 Sol 9 8 | =|98ml|Ans
9 | Q5 A tailor uses 2.5 m cloth to make a
ok s shirt. How much cloth will he use to make 8
9 . 88 2 | such shirts?
e : Y
S| | S
? * Solve the following. 9 In this case, we will multiply 2.5 by 8
';ﬂl 14+2 b 187 . p
0 . 7 Sol 0 . . 8
m 9 rr’? x 8
0 . Z— 20 . Om
o i Wi i ~20m cloth will be used to make 8 shirts
4 S R

\'-'-—-_-_:__
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Q6. Length of one picce of rope is 7.2m, 5167 5470 5500 5000
Iram cut this rope into 4 equal pieces. . (b) . 6 7200 11000
(a) What will be the length of each piece: (c) i T 6340 | 6300 | 6000
Soi:  Lenghofrope=1.2m o o te |—e | 5555 | 5560 | 5600 | 6000~
To find the length of each piece; we will CIV ((tg Si55 | 3500 | 3500|3000
N E 3 (h) 4545 4550 4500 | 5000
—— (i) 1111 1110 1100 1000
3 2 Q2. Round off the following fraction
~% 13 to the nearest whole number.
< Sy SNo | Round off to nearest whole numbers
Length of each piece =(1.8m Ans @ | 5.6 b
(b) If she will cut the rope in 2 equal pieces. | ™3™ 542 54
What will be the length of each piece? () | 9874 987
Sol: To find the length of each piece, we will () 12.7 13
divide 7.2m by 2 (€) 898 9
3 .. (N 6.5 7
2 172 (8) | 7649 76
- 6 (h) 8.19 8
1 2 (i) | 87.87 88
M 2 Review exercise (TB Pg 92)

0 Q1.  Choose the correct answer,
Length of each piece =[.6m] Ans (@) | Decimal is a fraction with the
Q7.  Ahmad solves 5 questions of math in denominator is 1 power of __, 100 or
8.5 minutes. How long he take to solve 1 B { g?,ﬂ- B2 G 15 )0

uestion? 1 i v
So: S questions take = 8,5 minutes (b) | When we divide a shape into 10 equal
| question take = {&j&+5) minutes - :J-Iam d::::;\:ach part is called - |
=117 minules ! un (i) | Tenths ]
t 2 _ (iii) | One (iv) | Half -
s[3 . 5 ;{":w':““u;l‘;‘f ' \[© (7o add the decimals abways —_ones
o™ q ' in ones, tenths in tenths and hundreds
P 3 in hundredths. ==
= o 5 (i) | Addv (i1) | Subtract

3 (i) | Multiply (iv) | divide ey

Exercise 5 (TB Pg 90) (@ :3'::'“ :'"MP’J’ any decimals by 100
Q1. Round off the following whole e A
numbers to the nearest 10,100 and 1000. ) lg () 2V G 3 Gio
S No Round off whole numbers to the (@ s :;:L = .;;:L = M——;
l Oncaresl.l 70 1000 ::tmbtr that is nearest to that number
not exactly.
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(i) _E:':dr:::m = (V) | Estimation 7 © 15;8
Q2 l_’l'-' ¢ following jn decimais, | Sol: ~1s.X.
® 700 G I3 )
. : 200 P
Sol: =@f"“ o 15%3 =15;4m
2
' -?g 2 Q4. Add the following.
" 1000 (a)  6.03, 5.56 -
: Sol: Ones Tenths Hundredths
={0.0754ns 6 i 0 3
- * S 5 6
= 19 .
© 2 @ 100 8 @Y o 5 9
. _A4xS Sol: =I5 6.03 + 5.56 = [11.59 Ans
Sok: =20 00Mns | ) g5, 134 _
20 Sol: Ones . Tenths Hundredths -
“100 8 - & 8 .
| + | i 2 d
= [0.2014ns ST 3 -
8= 8.28 + 1.24=9.5% Ans :
250 (c) 12.8, 3.14 '
208 Sol Tens Ones . Tenths Hundredths
Sol: =350 1 R, A 0.
+ 3 . 1 4
1 5k 9 4
2. 12.8+3.14=[15.94 Ans _
25 Q5.  Solve the following.
L P (@)  7.59-2.48
25x4 ° 100 Sol: Ones . Tenths Hundredths
Q3.  Convert the following decimals to e, £ <3 9
tommon fractions. - 2 : 4 8
T (b)  6.19, 4.21
" 45'56 = 45.&{ Sol: Osnes . Te?ths Hundredths
Sok: 4556 50 §1 & 1 9
pr 14 - | 2 1
" = 45-55 Ans | : 9 8
6.19-4.21 =|1.98/ Ans
© 10 (d) 7‘?’ (©  5.06-1.09
Sol: | 2 Sol: .1%6»4": Sol: Ol:es Tenths Hundredths
g Lo '6
! - I . 0 9
3 I"'"‘Aﬂl
—
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Sol: To find the dj
will subtract them.
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Focus dtu - > © 48+6 (H 51+3
e e Sol . 1 7
5.06-1,09=p.97 Ans S 35 T
Q6.  Solve the following. —_— : AT
(a) 1.3 %10 (b) 8.9 x 100 g - —
Sol: 13 Sol: =E?-KIQ‘5 ;- I
. .?ﬂ—x ]ﬁ co 4 2 L
=13x1 ={13}dns =89x10 = |890}Ans 0 LA
(@ 45%1000  |(@ 82x7 48+6=pFAns | 5.1 =3 =[] Ans
; 45 _ [ 08. Round off the whole numbers {o the
Sol: = 71008 Sol: 8 . 2| peqrest 10,100 and 1000.
7 S No Round off whole numbers to the
=45%100 =4500{4ns x 51 . 4 nearesl
= 10 100 1000
8.2 7 =B14 Ans 3420 | 3430 | 3400 | 3000
€ 93x3 ® 71x6 (a)
Sok 9 . 3 Sol: 7 1 (b) | 1009 | 1010 | 1000 | 1000
s 3 % 6 (c) |- 7824 | 7820 | 7800 [ 8000
= e () | 8417 | 8420 | 8400 [ 8000
: . (&) | 4090 | 4090 | 4100 | 4000
93“3=mA“5ﬂ 7.1 x6=§2.6Ans |— 1717 | 1720 | 1700 | 2000
Q7.  Solve the following. e Q9. Round off the decimals to the
(@) 68+4 (b) 88 4 nearest whole number,
_ T Sol 4 S No Round off whole numbers to the
4|6 8 2] 8 § nearest.
S - 8 (a) 4.17 4
2 8 0 8 (b) 78.3 78
- 2 8 - 8 (c) 13.45 13
0 0 (d) 0.98 E. i
68+4=[LAns  |88+2=F.4Ans (0) | 414 4] N
© 81+9 @d)  35+7 (0 9.82 < N
Sol 0 .9 Sol 0 . 5 Q10. The length of a wire is 3.41m and
ol8 1 213 5 length of another wire is 7.56m.
dae =i (a) What will be the total length?
3 g fgt]:l:t:;n? "d the total length of wise, wo #
- 8 ! -3 5 Length of 1" wire = 3.41m
0 0 Leneth of 2! wire = 7,56m+
8.1+9=DYAns [3.5+7=[0.9 Ans otal length = 10.97m Ans

(b) What is the difference between

fference between length, *

I-'ength sznd Wire
=7.56m
Length of 1* wire = 3. 41m
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ol The capacity of a pack o
ftre:

I juice js 3 4
¢h 7 packs?
the process of

What is the capacity of sy
In this case, we will yge

ftiplication.
acity of each pack of a juice = 3 4 |
Capacity of 7 pack of juice =9
2
- BEETER |
X 7
X 23 . Nl
Capacity of 7 pack of juice is 2381 Ans
If the capacity of pack of juice is 2.8

litre then what will be the capacity of §
?

so:  Capacity of each pack of a juice = 2.8/

Capacity of 5 pack of juice =?
4
2 » B
X 5
x 14 01

Capacity of 5 pack of juice is [14 ]| Ans.

QI12. The mass of 4 boxes of pencil is

1.8kg. What will be the mass of 1 box?

Sol:  Mass of 4 boxes of pencil = 1.8kg
Mass of 1 box of pencil =? :

To find the mass of 1 box of peneil, we will

divide 1.8 kg by 4

g .4
41 8
0
1 s
1 6
= 2 v
2 0
0

Mass of | box of pencil is 0.45 kg Ans
Unit No. 5 (MEASUREMENT)
Exercise No 1 (TB PG 98)

L Circle the correct units of le .
) ®)

___Mathematics-4
_~————n o
m fem] ; /f
mm fem
! {
’ c m / [km|

Q2. Convert these units of lengths.
(a) 12 km into m

Sol: |1 km = 1000m|

12 km= 12 x 1000m = 12000 m Ans

(b) 56 km 930 m into m

Sol: |l km = 1000m{ ‘e
56 km 930m = 56km+930m g
=56 * 1000m +930m :
= 56000 m + 930m
56km 930 = 56930m Ans

(c) 88m into cm

Sol:{l m= 100cm|
88 m =88 x 100cm =8800cm Ans

(d) 60m 78c¢m into em

Sol: |1 m=100cm|

60m 78cm =60m+78cm
=60 x 100cm +78cm
= 6000 cm + 78cm
60m78cm = 6078 cm Ans
(e) 3.2cm into mm

Sol: |l cm= 10mm|
32em=3.2 x 10mm
-?—;,-xlﬁmm =32 % Imm

32cm =32mm
(N S5cm 2mm into mm
Sol: |l cm= 10mm|
55¢m 2mm =55¢cm +2cm
= 55 x |0mm +2mm
= 550mm + 2mm
55¢m 2mm = 552 mm Ans

Exercise No 2 (TB PG 100)
Solve the given units of length.

Q1.

\‘-‘_
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(a) 22km + 33 km 22 = 46km 26m Ans N
Sol: = 55km Ans wc 33 (c)47m—10m a
55 Sol: =37m Ans -WC -
g’o)l BSkmkn: il m (d) 35¢m Smm — 25¢m Imm
| Sol cm mm
88 00 35 5
+6 17 =25 '
94 17 — ‘Lo 4
= ns = |0m 4mm Ans
(c;g‘;; 1-7;“2?11 82 (e) 21m 16m — 20cm 14cm
Sol: = 104 km Ans wc 122 Sol m cm
v 104 2] =,
(d) 7lem+ 2mm +11cm6mm =20 hﬂ
Sol cm mm : I 02
71 2 = |m 2cm Ans
+ 11 6 (n 74km 122m - 13m 13m
82 8 Sol km m
=82 cm 8mm Ans 74 122
(e) 21m 16em + 20m 1dcm - 13
Sol km cm 74 109
21 16 = T74km 109 m Ans ;
+ 20 14 Q3. Tahir has two pieces of rope. The length
. 41 30 of one picce is 38 m 87 em and length of the
=41m 30cm Ans other piece is 61 m 12 em. What will the

()  74km 122m +13m

total length?
Sol: 17 piece of rope length = 35m 87 cm

™ piece of length = 61m
Total lenpgth =99m 99cm

Sol ks M Q4. Ahmad buys 140 cm ribbon to warp the
74 122 . gift box. Convert the length in millimeters?
+ 13 Sol:  length of ribbon = 140 cm
74 135 I em = 10mm|
= 74km 135m Ans : Length of ribbon = 140 x 10mm
Q2.  Solve the given units of length, = 1400 mm Ans
(a) 9'.1km—74 km 99 QS. Kamal covers distance of 2 km 7120
Sol: = 25km Ans wC :i!; Emng from school to home. He covers
istance of 1 km 216m t me (0
(b)  52km 48m —6km 22m Masjid. i
Sol km m (@) Find the difference between e
;_ 12 . distances,
My s ‘szl;'!'l? find the different between the distanc®
% 5E i used the process of subtraction.
ol km L
¢ 10
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0
5 to Masjid - ]
Home 216
pifference ! 496 (€)
~ =1 km496m Ans 53 Sol:

avert the difference i

gﬂcf km = 1000 N
pifference =] km 496m

=] km+496m

= 1000m + 496 m
pifference = 1496m Ans

The l'ﬂﬂg‘h of Ahmad’s room is 12m

ggem. His sis‘ter’s room is 10m 144 long.
(a) what will be the total length of both
poms in cm?
Sol: length of Ahmad’s room = 12'm 'Sgem
length of Abmad’s sisters room =10m 44cm +

Total length =23m 00¢cm
The total length of both rooms is 23m or

ot Ans

19

(N
Sol:

8
g
Q2.

43 g 699 mg = 43699 mg Ans

1.9¢ to
lg=1

1.9 g=1.9% 1000 mg
=g *\00¥mg =19 x 100mg
1.9g = 1900mg Ans

0.8 kg to
1 kg = 1000

0.8 kg = 0.8 x 1000g
—x1008g =8x100g
0.8 kg =800g Ans

Solve the following,

(a) 36kg + 76 kg 36
Sol: = 112 km Ans WC 476

12

18kg + 17kg 17g
(b) What is the difference between the (st.?l kgkg o ¢
length of both rooms? i ;
length of Ahmad’s si - 18 00
length of Ahmad’s sister room_= - + 17 17
Difference = 02 12 35 17
The difference between the length = 2m 12em_ | =35kg 17g Ans
Exercise 3 (TB Pg 105) | (¢)82g+22¢g 82
QL.  Convert the following units of mass. | Sol:=10.4g Ans wC %
()) 65keg=65x1000¢g
Sol: [l kg= 1000g
65 kg = 65000 g Ans (d  71g2mg + 11g S60mg
b) 23kg139gtog Sol 131 gag
W [kg=1000 +11 560
23 kg 139 g =23kg+ 139 ¢ 2 5%
=23 % 1000g+ 1398
=23000g+1398 = §2g 562 mg Ans
Bkg139 ¢ =23139 g Ans ()  21g16mg+60g l4m’§|
() 89 tom Sol B lg
Sol:  [ig=1000m ’1 e
§9g = 89 x 1000 = 89000 mg Ans i . ¥
) 43¢ 699mg to mg = .
Sol: I’z =1000mg
- m = 81g 30 mg Ans
43g 699mg = 43g + 699 Mg ® 94 kg 122g + 23g
= 43x1000mg +699mg Sol ke .
= 43000 mg + 699 mg
N ——
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94 122
- 3
Sk 94 145
=094kp 145 g Ans
Q3.  Solve the following
(a) 99kg - 24 kg 99
Sol: = 75kg Ans wc A
75
(b) 58 kg 458g — 29kg 303g
Sol kg g
d
5'8 458
- 29 303
29 155
=20kg 155 g Ans
(c) 904g-154 ¢ 904
Sol: =750 g Ans WC _154
750
(d  39g500mg - 25g 100mg
Sd g mg
39 500
- 25 100
14 400
= 14g 400 mg Ans
Q4. Usman has two fish in a jar. The

mass of one fish is 29 g 20 mg and mass of
the other is 20g 14mg. what is the difference
between (he mass of the two fish in mg?
Sol:  Find the different belween the mass of
the two fish and mg; we will subtract them.
i

Mass of 1" fish = 29 20

Mass of 2™ fish= 20 14 -

Mass Difference = 9g 6mg
98 6mg = gg + ﬁmg

= 9000 mg + 6mg
936mg=qmmnmgms
Q5. A shopkeeper sells 49 kg 208 g of
sugar and 65 kg 750g of flour. What is the

tsot]al quantity of sugar and flour in grams?
0

I
Sugar =49 208
__Flmlr =45 750 +

Total Quantity = 114 958

The total quantity of sugar and flour is 114 kg
958g or 114958 g Ans.

Q6. Jamal weighs 67 kg 278 g and his
father weights 89 kg 9243.. )

(a) What is the difference In lhe!r masses?
Sol: To find the different in their masses we

will subtract them.

ke g
81
Father's Weight = §9 924
Son's weight =67 2 7 8-
Mass difference = 22 646 ]

Mass difference = 22kg 646 8 Ans.
(b) Convert the diffcrence in their masses in

grams.
Sol:

kg =10
72 kg 646g = 22kg + 6468
= 22%1000g + 646g

= 22000 p + 646g
22kg 6468 = 22646 ¢ Ans
Exercise 4 (TB Pg 108)
Q1. Convert the following units of
capacities.
(a)  9/into ml (b) 74 { into ml,
Sol: [I/=1000m4 |Sel: |I/=1000m
9/=9x1000 m/ 741 = 74x1000 mi
9/ = 9000 m/ Ans 741 = 74000 m! Ans
(c) 361506 ml. | (d) 90 / into ml.
?{31: " ]l J0= 1000mi | Sol:  [17=1000m]
= 0*1LmI+306ml | 90 ] = 90x 1000 m/

= 36000 m/+506ml | 90 j= 90000 m/ Ans
= 56000 m/+506ml
56 1 506ml = 56506ml
(¢) 67/intoml | (f) 1.6 into m/.
Sol:  (I/=1000md |Sel: [i7=1000
671=67x1000 mi 1.61=1.6 % 1000m!
= 67000 m/ Ans 16

—]—'H' * IWMI

= 16x 100 m/

1600 ml Ans

Q2. The capacity of an oil tanker is 98

con.vert the capacity of tanker in milliliters:
Sol:  Capacity of an oi] tank = 98|
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it of an oil tank = 98%1000 m/ = a 22 1500 ml - 10 [109mi
gm Ans e Sol ! m/
Faria uses 1.7 liters of milk to make 22 240
kshake. Convert the quantity of - 10 109
millﬁh'ke into milliliters, 12 391
ol uantity of milkshake = 1,7 = 121391 ml! Ans
1/=1000 (b) 55/-321
@'“ﬁt}' of milkshake = 1,7 x 1000 m/ Sol: =23/ Ans s 4
17 ; -3 2
"'TERIOQHM 3 3]
1T T (¢) 2.2mi - 1.5 m!
quantity of milk shake = 1700m/ PRGN 1.2
S ——————— —_— —
Exercise No. 5 (Tb Pg 110) =/1. 3
Q1. Solve the following, 0.7
(@ 3109 m/+ 51304 m/ (d) 41 878 m/ - 31 760 m/
Sal ! m! Sol { m/
3 109 4 §78
+ 5 104 -__ 3 760
8 a13 : o
=81413 m/ Ans o ad & waniling
Sol=10.7/ Ans Ones. Tenths | SO . .
2. ; 78 209
+ 4, 2
0. 7 - 16 142
122 & %7
m/+ 76 m/ = 621 67 m! Ans
3 Q3. Zara has two containers. The
ol » 198m/ Ans 1%:; capacity of one container is 67/ 198m/ and
N ’ the capacity of the other is 84 / 300m/.
d 198 m (a) What is the total capacity of the
O 1200 mi+921 containers?
! m/ Sol: To find the total capacity of the
34 ggg container we will use the process of addition.
4 92 I ml
X 126 200 Capacity of 1* containers = 67 198
[1261'200011Ans ity of 2™ container = 84 300+
Y 417200 ml+ 404 [ 478 ml Total capacity of the container = 1517 498 m/
Sl ! | ml (b) What is the difference in the capacity of
404 478 both containers? i
i 41 200 Sol: To find the difference in the capacity of
245 678 both containers we will use the process of
3145 1678 mi Ans subtraction.
\\ioh'e the following.
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I ml

? ]
Capacity of 2" conlainers = g4 1'g'0

34
e g

=34 x 10cm

Capacity of 1" container =-6 7 1 9 8 34m =340cm Ans
Differencc in capacity = 171 102ml (c) 66 kg into g.
The difference in the capacity of both| Sol: ([lkg=] 000 E
containers is 17/ 102 m/ Ans . 66 kg = 66 x 1000g
A shopkeeper sells 72.8/ milk on = 66000 g Ans
Saturday and 92.6/ milk on Sunday. ?n (d) 60¢ 498 mg into mg
what day does he sell sold less milk? Give| so): llg=1000m
your answer in milliliters. =60 x 1000mg +498 mg
Sold milk on Sunday =92.6/ = 60000 mg +498 mg
Sold milk on Saturday =72.81- 60g 498 mg = 60498 mg.Ans
Difference =19.8/ Note: The book answer is wrong
11 = 1000 ml () 0Sginto
Difference = 19.8 x 1000 m/ Sol: [lg=1000m
:-"%HOMM sD.Sg =0,5x 1000 mg -
= 198 x 100 ml 7 Loy
Difference = 19800m/Ans = 5x100mg
~ Review Exercise (TB Pg 111) 0.5g = 500mg Ans
Q1. Choosc the correct answer. ) 76! 2m! into m/
(a) | There are ___ meter in one kilometer. Sol: [I/= 1000 mi
(@) |1 (i) 10 (iii) 100 (iv) 1000¥ 76/ 2mi= 761+ 2ml!
(b) \ There are__ grams in onc kilogram. = 76> 1000m/! +2ml
@ |1 (i) 10 (i) 100 (iv) 1000v = 76000 m! + 2ml/
(c) | To convert em to mm multiply it with 76l 2ml = 76002ml Ans
(i) | 10000 (i) | 100 8 98lintom!
(i) | 107 (v) | 1000 Sol:  |I/=1000 m]
((d) | Onemetre is equal to_____ centimeters 9:” =9.8 x 1000 m/
() 11000 (i) 10 (iii) 1 (iv) 100v 'TE"W”"
(f) One litre is equal n: 1000. =98 100 mf
(i) | Grams (ii) | Metres 9.8 ~ 9800
ve e T " - i ml Aﬂ.’f
(iii) | Milliliters v/ (iv) | Litres (b) 9 cm int
Q2. Convert the given units. S fiem= 0 mm
(@)  10S lom into m, 90cm =50 >
Sol: |lkm = 1000 m 90cm = 10 mm
105 km = 105 x 1000m Qsm 900 mm Ans
105 km = 105000 m Ans + Add the given units
(b) 3.4 m into cm. g) Skg 299g + %g
Sol: [Im =100 cm| ol kg g
34m =34 x 100 cm + g 299
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Z14 kg 299 Ans T e 85 *405
) 4.5m+ 2.8m w2 13 21
¢ 72
Sol: - 384
I =72m 384 cm Ans
4 . 5m () 8dkg 711g - 75kg 75 kg 680g
+ 2 : sm Sol ?kF F ‘
. % 84 1
=7.3m Ans - 75 680
09 031
¢ T8kg 700 g +81kg 172 =
gol h Gﬂ =9kg 31 g Ans
78 700 (d) 781805m/-631214m/
Sol | m/
+ 81
AL 78 "8'05
o 159
. 872 = 63 214
(@)  2121200m/ + 921 500 m/ = 151591 ml Ans
Sol { M (¢) 981788 ml - 45/ 45/ 659m/
212 200 s y N
+ 92 500 98 78'8
304 700 - 45 659
=304 1700 mi 53 129
(¢) 1197329 m/ + 365 [ 262 mi/ =531 129m/ Ans
Sol ! M/ Q5.  The height of K-2 is 8 km 611m and
. 1 J Mount Everest is 8km 848m.
119 329 (a)  What is the difference between the
" 365 262 height of the mountains?
i 484 391 Give your answers in meters?
=484 1591 m/ Ans To find the different between the height of the
h  65g31 3Img + 98g 198 mg mountain we will use the process subtraction,
Sol e mg Height of Mount Everest =8 848
: X Height of K-2 =8 611
- 65 313 Difference =0 237
— 98 198 Difference = 237m Ans
M 163 511 (b) What is the total height of the
163g 511mg Ans mountains?

. Subtract the given units
2506 kg - 417 kg
4

9

5 % '6
=k E =3
g8 9
=89 kg Ans

‘s'jl 85m 405cm — 13m 2km

To find the total height of the mountain we

will use the process of addition.
!

Height of Mount Everest =8 848

Height of K-2 =8 6l1+
Total Height =17 459

Total height = |7 km 459m Ans

. m cm
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Q6. On Eid, Asim buys 8 gpnt and a |~ Daysciivibes, - :  hewr
camel, to sacrifice. The goat weight 55 kg | i
and the camel weight 200kg. 0 outgw i i T 1 5’°ﬂuﬂ
(a) Find the total mass of the amn‘!als. b i
Sol: To find the total mass of the animal, we i
will use the process of additio;{.)o : T B ‘“"“; TD-J
Mass of camel - g — .
Mass of goal =55kg +
Total Mass 255 kg P r—

(b) Convert the total mass info grams.
Sol: To convert kg into g we will multiply it
by 1000.

Total mass =255k
kg = 1000.3

Total mass = 255 x 1000 g

Total mass = 255000 g Ans

Q7. Capacity of a bucket is 87/ and
capacity of a tub is 1121 456 ml. what is the
total capacity in milliliters.

Sol: To find the capacity we will use the

process of addition.
Capacity of 2 tub =112 456
Capacity of a bucket =87 000+
| Total capacity =199 456
Total capacity = 199 / 456 m/
=199 [+ 456 ml
1/= 1000 md
Total capacity = 199 x 1000m| +456 m/
= 199000 m/ + 456 ml
=199456 m! Ans
Topic: (Time)
Exercise No 1 (TB PG 117)

1. Colour the correct time of your daily
activities using the 12-hours clock time.

S -
@ Playing Ime in the evenng 1.4:30!:".! .?w:

R

[ectem | EROOES

am 100 g

@ Isha prayer I i m:
P T
1025 :

@ sobgimuings [ 102s0m | (255

2. With the help of clocks write the corred
time in 24-hour format.

a)

Lock #t the clock and tell whal
thme Noman hazs breakiast)

Ti30:18

¥

Look o1 B clock and tell what Eme
Farteen ply wihh her friands?

530238

o

)

Look 8l 0w clock
Aneid sleep? e Lal | what tma

#-00:58

3. Look I :
100 34 1he folowng clocks and tell the tiem in hours, minues and 998

QOO0

e
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4 W mma 10 P ghven tisg U) 22h 26 min "
# % Sol: 22h = 26min=22h+26min 5
= 22 x60min +26 min
& = 1320 min +26 min +1320
Ren 22h 26min =1346 min Ans
102255 (8)  11h 48 min .
Sol: 11h 48 min = 1 lh +48min 60
= 11 x60min +48 min 11
% = 660 min +48 min 00
I 1Th 48min =708 min Ans +60 0
124218 S1131 66 0
“(h)  22h 15 min .
Exercise 2 TB pg (121) Sel: 22h 15min = 22h+15min 22
QL. Convert the following time in =22 x60min +15 min 60
minutes. = 1320 min +15 min 00
()  6h 60 22h 15min =1335 min Ans #1320
Sol: [1h = 60min| % 6 ' 1320
=6 x 60 min 360 ()  9h 43 min 60
=160 min Ans Sol: 9h 43min =%h +43min x 9
(b) 201h 201 = 9 !60rn.in +43 min 540
Sol: |Ih = 60min| x 60 =540 min +43 min
201h =201 x60 min 0 o NAF =0 0l Ane 60
= 120 60 min Ans 12050 AN -THR 6 iy 18
12060 SO': lSh . ﬁmll‘l T
= 1860 min +6min + 600
g-zl 14h 12min VY = 1080 min +6 min T0R0
Th = 12min 18h 6min =1086 min Ans .
14h 12 min = 14h+12min 60 (k)  27h 38 min 27
= 14x60 min +12 min e Sol: 27h 38 min =27h + 38min | —89
- 840 min+ 12min +840 = 27x60min +38min +1600
14h 12min =852 min Ans 840 = 1620 min +38 min 630"
(d)  5h55min 60 27h 38min =1658 min Ans
Sol:5h 55min = 5h +55min 5 1)  42h 26 min 42
= 5%60 min x 55 min _ 300 Sol: 42h 26min =42h+26min | —S0—
= 300min +55 min = 42x60min 26mm +2520
3h 55 min = 355 min Ans = 2520 min +26 min g .
42h 26min =2546 min Ans
(& 17h 28 min {7 Q2. Convert the following times in
Sol:17h 28 min = 17h +28 min 60 second.
=17%60 min + 28 min g
= 1020 min + 28 min +1020
= 1048min 1020 (a) 77 min
'7h 28min = 1048 min Ans Sol Imin = 60 Sec
77 min = 77x 60sec
77 min = 4620 sec Ans

Scanned with CamScanner



Focus Student Resource Book

(b) 43 min
Sol {Imin = 60 Sec
43 min = 43x 60sec

= 2580 sec Ans

(c) 1 min 13 sec
Sol {imin = 60 Sec
= 60 sec + 13sec
=73 sec Ans

(d) 8 min 32 sec
Sol = 8 min + 32 sec
Imin 60 se

= §x60secx32sec
=480 sec x 32 sec

=512 sec Ans
() 6 min 53 sec
Sol 6 min + 53 sec
I min 60 sed
= 6x60sec + 53sec
= 360 sec + S3sec
=413 sec Ans
(f) 63 min 58 sec
Sol 63 min + 58 sec
Imin 60 se
= 63 x60sec +58sec
= 3780 + 58sec
= 3838 sec Ans
(g) 88min 59 sec
Sol 88 min + 59 sec
1 min 60 se
= B8x60sec x59sec
= 5280 sec + 59sec
= 5339 sec Ans
(h) 65min 37 sec
Sol 65 min + 37 sec
Imin 60 sec
= 65x60sec x3Tsec
= 3900 sec x 37sec
= 3937 sec Ans
(i) 214m 24 sec
Sol 214 min +24 sec
I min 60 sec
= 214x60sec x24sec
= 12840sec x 24sec
= ]2864 sec Ans

152 Mathematics4

() 100min 11 sec

Sol 100min + sec

1min 60 sec

= |00=60sec x| 1sec

= 6000 sec x 11sec

= 6011 sec Ans

(k) 176min 18 sec

Sol 176min + 18 sec

1 min 60 sec

= 176x60sec * 1 8sec

= 10560 sec * 18sec

= ](0578 sec Ans

(1) 432min 03 sec

Sol 432min + 03 sec

I min 60 sec

= 432x60sec x03sec

= 25920 sec x 03sec

= 25923 sec Ans
Exercise 3 (TB PG 123)

Q1. Convert the following into month.

(a) 9 years

Sol: || years = 12 monthsg

9 years = 9 x 12 months

= 108 months

(b) 4 years

Sol: |1 years = 12 monthg

4 years = 4 x 12 months

=48 months

(¢) 12 years

Sol: {1 years = 12 monthg
=12 x 12 month
= 144 month

(d) 21 vyears

Sol: |l years =12 mont

21 years =21 x 12 months

=252 months Ans
(¢) 8 years 3 months
301:8)'3m=8y+3m
=8%12m x 3 ms
= 96 month + 3 month

(0 5 ye: 95:'"‘“!%3 Ans
r's 4 mo
Sol: 5 year 4 month =Mhs

5 year + 4month

Scanned with CamScanner



g8 student Resource Bogk

153 Mathematics-4

fot =60 » - i
=" =60>4m =63 Mmonths Ang

20 years 6 months
2() year + 6 months

=20 = 12 months + ¢ months
= 240 month + 6 month
=246 month Ans
17 years 10 months
.11; I-J },Ears -+ IO mnnlhs
s 12 months

= |7 x 12 months + 10 months
= 204 months + 10 months
=214 months Ans

6 30 years 11 months

gl 30 years + 11 months
@;— =12 months
= 30 x |2 months + 11 months
-= 360 months + 11 months Ans
= 171 months Ans
) 29 years 7 months
Sol: 29 years +7 months
[l year = 12 monthg
= 20 x 60 months + 7 months
= 348 months + 7 months
= 355 months Ans
() 15 years 11 months
Sal: 15 years + | Imonths
=15 x 12 months + 11 months
= |80 months+ | Imonths
= 191 months Ans
) 43 years 7 months
Sol: 43 years + 7months
= 43 % 12 months + 7 months
= 516 months + 7 months
=532 Months Ans
g:- Convert the given into days
11 weeks
| week = 7 days
|1 week = 11 x 7 days
) = 77 days Ans
8 weeks
|| week =7 days|
8 week = 8 x 7 days

(f
Sl

(¢) S weeks
[l week =7 dayy
S week =5 = 7 days
= 35 days Ans
(d) 25 wecks
| week =7 days
25 week = 25 = 7 days
= |75 days Ans
(e) 9 weeks 6 days
9 weeks 6 days = 9 weeks + 6 days
=0 x 7 days + 6 days
=6 davs + 6days =69 days Ans
(n 7 weeks 1 day
7 weeks | day = 7 wecks + | day
=7 = 7 days+ 1 day
= 49 days + | day < =50 days Ans
(g) 2 wecks 5 days
Sol: 2 weeks S days = 2 weeks + 5 days
=2 x 7 days + 5 days
= |4 days +5 days = 19 days Ans.
(h) 4 weeks 3 days
4 weeks 3 days = 4 weeks + 3 days
=4 x T days + 3 days
=28 days + 3days =3I days Ans
(i) 32 weeks 4 days
Sol: 32 wecks 4 days = 32 weeks + 4 days

=132 x 7 days + 4 days
=224 days + 4 days =228 days Ans
27 months 3 days
Sol: 27 months 3 days =27 months + 3 days
=27 x 7 days + 3 days

= |89 days + 3days = 192 days Ans
(k) 41 months 12 days
Sol: 41 months 12 days =41 month + 12 days
= 4] = 30 days + 12 days
= 1230 days + |12 days
= 1242 days
)] 54 months 13 days
54 months 13 days = 54 months = 13 days
= 54 x 30 days + 13 days
= 1620 days + |3 days
= | 633 days Ans

—————————

Exercise 4 (TB Pg 126)
Q1.  Solve the following.
(a) 34h 11 min 13 sec + 11h 18 min 32 sec

T = 56 days Ans
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. 27 3 5
Sol h min Sec + 32 6 4
34 11 13 % 5 5
» 118 32 = 9d Ans
25 29 45 = 59 years 9 months 9 days.
=45 h 29 min 45 sec Ans Q2.  Solvethe follml\;nhgnm S
(b) 24h 34 min 37 see + 2h 21 min 11 sec (a)45h 45 m 49 sec - =
Sol h min se¢ Sol h :;usn pr
24 M4 17 45
$ 3 2 7] w10 2% 38
26 55 48 A .
i = ‘ Ans
=26 h 55 min 48 sec Ans =35h 22 min 11 sec
(c) 54h 19 min 45 sec + 43h 20 min 10 sec (b) 57 h 22 m 27 sec - 33h 11 min 12sec
Sol h min SseC
Sol h min sec 57, X2 ?;
M 1% & - 33 \I]
+ 43 20 10 M 11 1S
9T ¥ 355 =24h 11 min |5 sec Ans
=97 h 39 min 55 sec Ans (c) 65 h 28 m 56 sec —54 h 20m 45sec
(d) Sh 15 min 31 sec + 4h 4 min 25 sec Sol h min sec
Sol h min sec 65 28 56
5 35 3 - 54 20 45
+ .4 4 25 11 08 11
9 19 56 =11h 08 min 11 sec Ans
=0h 19 min 56 sec Ans (d) 6 h 26 m 42 sec -5 h 15m 31sec
()dyTm2d&T7ydm2d Sol H min sec
Sol years months days 6 26 42
- S P s B B 3
+ 7 4 2

21 11 4
=2| years 11 months 4 days. Ans
() 51h 02 min 08 sec + 37h 11 min 09 sec

Sol h min scc
SR 02 OB

¢ 37-YH1 05

88 13 17

=88 h 13 min 17 sec Ans
(g)49y2ImSd+40ySm1ld
Sol year month Days
49 2 0S
+ 40 S 11
89 7 16
= 89 years 7 months 16 days. Ans
(h)27y3mSd&32y6mdd
Sol year month Days

] 1] 11
=1h 1] min 11 sec Ans

(¢)25y8m3d-23yém1d

Sol Years Months Days
25 8 3
Y 6 1
02 2 2

= 2 years 2 months 2 days Ans

(1) 62 h 53 m 29 sec — 51 b 42m 08sec
Sol h

min sec

62 53 29

- % 42 08
1 11 9%

“=133h 11 min 2] sec Ans
Q3. Ahmad went to his lrlﬂdmothc{;

home on Sundg for
Y and he stays there
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o his Aunti’s home and he spends 4 hours | Maha takes = 9 23

god 23 minutes. Find: Rohan Takes = 3 W=

(a) HoOW much time does he spend at his | Difference= 2 13

relative’s home?

Sol h m
2 20
- 4 23

"He spends 6h 43 min at his relative’s home.
) Write the time in minutes.

Sol: 6h +43 min

=6 x 60 min + 43 min

= 360 min + 43 min

=403 min Ans
Q4. Ejaz travelled 6 hours 34 minute 45
seconds in a bus and 4 hours 20 minutes 12
seconds. In a train: Find
(a)  How much more times did he travel
in the bus than the train?
Sol: In this case we will use the process of
subtraction

h min  sec
Travelled by bus = 6 34 45+
Travelled by train= -4 20 12
Difference = 2 14 33
Eiaz travelled 2h 14 min 33 sec more in the
bus than by train. ‘

(b) How much he travelled in all in bus and
train? The total he travelled.
Sol: In this case we, will use the process of
addition.

h min  Sec
Travelled by bus= 6 34 45+
Travelled by train=  +4 20 12
Total travelled = 6 S N
Ejaz travelled 10h 54 min 57 sec in all in bus
and train. Ans
l‘::lle: The book answer is wrong. In Q4 (n)

(b)

Q5. Maha takes 9 hours 23 minutes to
complete a picture while Rohan takes 7
hours 10 minutes to complete the same
Picture, Find

(8) How much more time does Maha take?
Sol: h min

Maha take 2h 13min more. Ans
(b) The total time they take altogether?

Sol: h min
Maha takes = 9 23
Rohan Takes = 7 10 +

Total time taken = 16 33

The total time they take 16h 33min. Ans
Review Exercise (TB Pg127)

Q1.  Choose the correct answer.

(a) There is 13:50 in 24 hour clock, what
time will be in 12 hour clock?

i 1:50am.l (i) 3:50p.m

(iii) 1:50p.mv (iv) 12:50p.m

(b) Thereis 3:55 in 12 hours clock, what
time will be in 24 hour clock.

(i) 1355 (i) 14:55

(iii)-. 15:55v (iv) 16:55

(c)  Which time is long from the following?

(i)~ 2 yearsV (i) 12 months

(iii) 1 year3months (iv) 350 days

(d) There are months in 2 years 6
months. -

H 2l (i) 28

(iii)) 26 (iv) 30v

(e) To convert years into month we
multiply the given years by N

(i 24 (i) 10

i) 11 (iv) 12¢v

Q2. Circle the correct time boxes by
using the 12-hours format.

PRBB®DB®
{
:
3
i
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Q3. Convert the following into MINuiEs: 04, Convert the following into seconds,
Sol: | h=60 min st Sol: [1 m = 60 sec x 6 0
8 h=8x 60mm 480 78 min = 78%60 sec &
= 480 min Ans = 4680 Sec T
(b) 1120" , 1 é % &
Sol: | h=060min b 33 min !
l]2h=|]2!60m|n _-T-_??—rﬁ-. ( ). | = 60 sec 3 3
: = 1980 sec 19 8
(¢ 15h13min > 16 0 e -Tg—g‘g-
Sol: 15h 13 m=15h+13m |(——F"7 . 17 sec 6 0
— 15x60 min+ 13min |50 0 (5 AW e %
—o0min+i3min |~ 9 00 | Sol: 4ml7scc=4min® Ty
= 913 min Ans = 4x60 sec + 17.s€C
15h 13 min = 913 min Ans =240 Sec +17 sec
7h 15 min =257 sec Ans o
Sol: 7h 15 m=Th+15m 8 8 | @ SmiEyiaee x 9
= 7x60 min + 15min 70 Sol: 9md2sec =9min+42s —1Tr
= 420 min +15min = 9%60 sec + 42 sec
7h 15 min = 435 min Ans = 540 Sec +42 sec
(¢) 28 h39 min ‘ 9min 42sec = 582 sec Ans
Sol: 28 h 39 m=28h+39m & (¢) 2 min 53 sec e WS
= 28x60 min + 39min + 0 0 Sol: 2mS3sec =2min+53 s -
= | 680 min +39min 16 8 0 = 2x60 sec + 53 sec :
28h 39 min = 1719 min Ans | _16_8_0 = 120 Sec +53 sec
N 33 h 25 min l3 3 2min 53 sec = 173 sec Ans
Sol: 33 h 25 m =33h+25m g .0 (D 21 min 11 sec 2 1
=33x60 min+25min | % 0 0 Sol: 2Imini1s=2Imin+118 | * & 0
=1980 min+25min | 19 8 0 = 21%60 sec + 11 sec 0 g
33h 25 min = 2005 min Ans T80 = 1260 +11 sec -L%—n-
(© 11h13 min ' _ 12 6 2
21minl | sec = 1271s Ans
Sol: 11 h 13 min =11h+13m 11 @ 97 mi
= 11%60 min + 13min + ¢ 0 Sol:97 '74";““ S g 3
= 660 min +13min 6 2 g . .—.“g‘-l;:‘ﬁosec AL RTe _'x'—d—-ﬁ-
11h 13 min = 673 min An ¢ 6 sec+d4lsec | =g 0
» . 4 = 5820 Sec + 20
(h) 23 h 16 min | . ec +47 sec ______..-S-E_Tﬁ
Sol: 23 h 16 min =23h+16m 2 3 - 7min = 5867S Ans
= 23x60 min + 16min x 6 0 (S )- 48 min 47 sec 6 0
= 1380 min+l6min | 13 § ¢ ol:48mindTsec~48min+q7s | —X——
2.3|'I 16 min= 1396 min Ans m = 48"60 sec+47 sec RS . W
()  6h54 min = 2880 Sec +47 sec
Sol: 6 h 54 m =6h+24m 6 0 48 min 47sec = 29275 Ans
=.36x60 fni" + 54min . g g{?ﬂ* & 433.min 44 sec &'y 9
60 min +54min 0 At s. Imingqs= 433min + w & B
25 9 80
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fo ~ 433260 sec + 44 see 157
= 25980 sec +44 sec -—-——i_@!_l_ =15 x7da Mathemaﬁcs-d
= 26024 sec Ans = 105 days fns |
{3min 4dsec = 26024 sec (b) 9 weeks
o Convert the following into mopps» Sol: [ 1 weeks = 7 days|
(8) 5 years * | =9%7days
sd@ﬁ =12 mnﬂa =63 dﬂ)'s Ans
5 years =5 % 12 months (c) 6 weeks
= 60 months Ans Sol:| 1 weeks = 7 days|
p) 3years =6 x 7 days
sol: 3% 12 months =42 days Ans
= 16 months Ans (d) 27 weeks
12 years Sol: | | weeks = 7 days!
sol: 22 % 12 months =27 x 7 days
=764 months Ans = 189 days Ans
32 years (e) 11 weeks 2 days
$ol: 12 % 12 months Sol:11 weeks + 2 days
=384 months Ans L ol = ¢ d‘ﬂ
@  9years 4 months by, bt
Sol; 9 years + 4 months it
=9x |2 months + 4 months 0 T S 1 Sy
=108 m +4 months = 112 months Sol:S.weelk® * 5 days
M 15 years 10 months (o = 7 daye
So: 15 years +10 months Q% 7 SR ¥ 80
=5 12 months +10 months o 2: gaﬁ gy
=180 months + 10 months i g s
=190 months Ans fsg‘:;’l- 11 \::e:?:kﬁs :ﬂdm
() 29 years 8 months | weeks = 7 days| -
Sol: 29 years + 8 months =11 % 7 days + 6 da
*29 x 12 months +8 months =77 da 1}'5 v
=348 months + 8 months =83 da;: A:sday
E‘m 8 months = 356 months Ans (h) 56 weeks 4 days
SJP 19 years 11 months Sol:56 weeks + 4 days
S 19 years + 11 months 1 weeks =7 da
tgxllmomhs+llmonths = 56 x 7 days + 4 days
: ng::zm::+ 11 months = 396 days Ans
Sdm (1) 43 weeks 3 days
S sy years 9 months Sol:43 wecks + 3 days
g years + 9 months | weeks = 7 days|
aﬁ;llmonths+9mmhs = 43 x 7 days + 3 days
. 657 months + 9 months =301 days + 3 day
o months = 304 days Ans
a) 0nlv¢rt the following to days. Q7.  Solve the following:
o3 5 weeks (a)37hllmin383ec+32h34minl6uc
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—1t32 134 16 Spend time in playing L. =
59145 |54 Total spends time 6 :|
= in Ans .
= 69 h 45 min 54 sec Ans &b ?l;:i::?he total time in minutes
(b) 44 h 25 min 3Bhsec ;; ;z hsec min Sol: 6 h 43 min .
44|25 |38 ol Lk
F[32[34 |06 (h=60mid
5150 Ta4 = 6 » 60 min +43 min
- in + 43 min
=76 h 59 min 44 sec Ans - igg 2:: Ans *
(c) 6 h 25 min 35 sec + 3 h 13 min 14 sec 010. It take a cook 2 hours 4:.! minutes 54
[ Th | min | sec | ceconds to make @ savoury dish and one
625 |35 hour 12 minutes 24 seconds to make a
+13113 114 desert, Find how much more time he takes
o AN se: A:fs.s L. to make the savoury dish?
= mi
Solve the following. - h | min | sec
(a) 38 h 33 min 38 sec — 00 h 22 min 26 sec 243 | 54
h min | sec ) 12 24
38 |33 |38 1131 130
-100|22 |26 %1h31 min 30
w111 112 min 30 m sec

=38 h 11 min 12 sec Ans
(b)SGhSGmlnSSsec-—ddhﬂ min 37 sec

h | min | sec
56 | 56 |58
- |44 | 43 | 37
121312
= 12 h 13 min 21 sec Ans
(¢) 37 h 54 min 49 sec ~ 21 h 32 min 00 sec
‘I h |'min | sec
37154 |49
-121132 |00
16122 |49
= 16 h 22 min 49 sec Ans

Q9. Afnan spends S hours 23 minutes in
study and 1 hour 20 minutes in playing,

(a) How much time does he spend in both
activities?

Sol: To find the time that he spend in both
activities then we will use the process of
addition.

1 h 31 min 30 sec more time he takes to make
the savoury dish. Ans.

Q11. Asfandyar spend 7 year 4 months 1’
days in Saudi Arabia and 2 years 7 months
7 days in UAE.

(a) How much time does he spend out of the
country?

Sol: To find out how much he does spend oVt

of the country, we will use the process
addition,

Years Months Days

Spend time in S. Arabia 7 4 2
: AP,
79

Spend time in UAE 2
Tolal spends time 9

So, the total spent time in both contains in?
years 11 months 9 days, Ans

(b) Write the total time in days.

Sol: 9 years 11 months 9 days

=9 years + 11 months + 9 days

1 year =
| Months - ggsd:;:s

=9 x 365 days + 11 *30days + 9days _~
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#3705 days. Ans (i) <ABC =52° (i) <EFG = 30°

*J"" Farheen completes has megjcq | i) <DK = 118° (iv) < MNO = 85°
o 10 months 7 days and her hoyg, 101;‘ i: _(v) <PQR = 20°
2 days. How much time giq i Q3.  Construct the angles the given

] ::l in medical education and hoyge job? measurements.

spe Years months gqs | (® 60° (b)30° (c) 115° (d) 90°
st ., onmedical 4 "
wldtlm‘ 10 7

spend, time an house 2 00 2+

+ (a) (b)
foal spends time 6 10 3 60" o
d) L'Q

spends 6 years 10 months 9 days in
gdicll education and house job. Ans ) '\ (

aaall Unit No. 6 15°
(GEOMETRY)

Exercise No 1 (TB PG 134) Q4. Measure the angles in the following
QL Identify parallel and non-parallel | figures and write their names as well.
DV

joes from the given lines and write their C
psmes as well. A

P by )
sl U
square Penagon

' | line _Parallel line
Parallel line  Non Paraliel line e Fizare () e ®
<B =90° <C=90°
" ’ \[<D=50" <D =90
>< / >< <DCA =45° <E=155"
= B = 150°
Non Parallel line P.I'l“el line NMMM :'g:g ;g: ‘:A = §§°
ise 2 (TB PG 142) Exercise 3 (TB PG 146)
QL W:t?rl;:e ung;ﬂ and types of angles | Q1. Draw the parts of the following
In the following: circle

SO Q0
Mm:ule Right angle Obtuse angle aoutc.ans’y

Diamcter of cirele Radius of circle cestre of e

Q. Measure the following angles. Q2. Write the name of parts of the
A " circles.
'.f E “\._ : _,.!
L.._ -~ 4 N N——0O n""{:_"_n'
' ¢ J 3
Sul:
\__
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Exercise 4 (TB pg 149)
Ql. Find the perimeter of the given
figures.
] b} €
T —
! . - L -
{ i ]
1 = : _ t 1 |
1 =t i i ] i - REp
(a)Sol: P=5m+5m+5m+5m
P=10m+ 10m
P=20m Ans
() Sol: P=7cm+4cm+7cm+4cm
P=llcm+llcm
P=22cm Ans
(c) P=6m + 4m +6m + 4m
P=10m+ 10m
P=20m Ans
Q2. Find the area of the given figures.
L] ) - . F"
9 q :
]|
(8 Sol: A2x2=4cm’Ans
(b) Sol: A=12x7=84m’ Ans
() Sol: A=4x2=8cm’Ans
!d) Sol: A=1x1=lm?Ans

Exercise 5 (TB pg 153)
Q1. Mark (v ) on the figures where you can

AR
O GO

D D

—

Mathematicsy
omplete the given figures. =
- 1 1 -

Q2.

0

iyl .

v
: . H ;.

Exercise 6 (TB PG 156)

Q1. Write the names of these figures g
Iabel their vertices, edges, and surfaces.

I}

e
0
[Y i
' &
Cone |
Q2. Look at the figures given below and
write their properties. |
30shapes | Verticee Edges Beartaces ‘i—l !; |
Carved
. ’ ] serbace
o} . [ ] 1

o

Alr | | ES

—

: [ ] one qurrd
SLE D
sarfaces

==

A || B

—

R .u.dﬁ
o) E"“:’ ] 12 p are

R

—
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o). Mark (v) the figure wy 161 —_— Mathematics-4
]i;-rn properties. ‘eh has the (i) |90°v (i) | 8O
‘ | 3 shapey (i) | 100° (iv) | 180°
. ovenen O = .. I~ /|| () [ The length of boundary a circle is
@ |+ I ﬁ\. F; L | called of the circle.
+ 20dp8 @ . (1) | Circumference | (ii) | Centre
[ —— o v
[orwe | O |0 (i) | Diamet ) | Radius
A \ |& - eler (iv)
o -::‘:“"’ l : g () | The area covered by a closed figure is
.'_ . the of that figure.
oowem @ |0 — () [ Length (i) | Side
a [+ rree & .9 fvrf E’:Tl (iii) | Perimeter (iv) | Area v
“hew okl - 4 |l| (@ | Line of symmetry divides a figure
into equal parts.
* Svertcn 0. . - qoB
a |7 st i ’a O & (M |5 (i) |4
« Sadpes G S (iii) | 3 (iv) [ 2v
2. Encircle the parallel lines from the
. e [ A Clr_.g - given lines.
‘ Voo S 3 BT g 3l ®)
J oo i g
Sl e _ 3. Differentiate right, acute and obtuse
angle in the following.
REVIEW EXERCISE y 0 4
(0) | The lines which keep going straight || ™ :
and never meef each other are cn!ltd: i N\ \/
() |Horizontal (ii) | Vertical lines
lines sevte angle obewsa angls rg saghe
(111) ;I:nmllel (iv) | Parallels linesv’ 04 Draw the mgles of given
[ A1 :
() | There are small parts in ‘; ;:;mrel?;:! -
protractor and each part is equal to
|| degree.
@) 150 (i) | 120
{iii) | 1807 (iv) | 360 s
©) | When horizontal and vertical lines
intersect each other at a point, they
| form:
0 | Right anglesv | (i) | obtuse angles
(i) | Acute angles (iv) Horizontal ®) 9§
angles
) |An angle less than ___ is called acuie

~
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c) :‘.'."._ -— S T l .
im| TL—‘“P«
(¢ 70° (d) 20° L_a-—- oo R
B L -
] ]
L FTomismAomsm
0 . P = 9“1 +om
N 20° o petAmtTAm
5. Label the circle. p=28 m’AnS
] A =45m~Ans .
':T:_:"_— Q7. ldentify the symmetry in the gy,
4 ———— | figures and draw lines of symmetry why,
\ o possible. '

QG. Find the perimeter and area of the
given figures. (a)
—
Sol: P=6m+4m+6m+4dm
P=10m+10m
P=20m Ans
A =24m’ Ans
(b)
Sol: P=4cm+4cm + 4em + 4em
P = 8cm +8cm
P=16cm Ans

A = 16cm’ Ans

1

Q8.  Complete the given figures and fi
their perimeter and area as well.

a) - —— 1
1
li.._
Sol: hlkﬂ"l +11m
P=22cm Ans
A'-9cm2+9c'n2
A =18cm? Aps

(b)
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9. Encircle the figures which have the

following properties.
8]0 L3¢ surtyeny e

1

|
|
i

S
i

W
- e e | T N —
r |
el
s IR
f
(l_.’ <|]

A=30cm g | UNIT 07 DATA HANDLING

: (Exercise 1 (TB PG 167)

Q1. The minimum time for suggested
| sleep for children of four months to eighteen
. years is shown by using the following bar
graphs. Look at the graph closely to answer
~I- the questions,

WA
8.2 - - e
Ay K .

. a8 |
Sol: - '
P=13cm +13 cm
P=26cm Ans L
A=175em? +7.5¢cm’ T T A e e " ”

A=15cm’ Ans Soep dumsten

ma.mmmmmnncw-:m.

(a) For children of 6 to 12 years, time
duration of suggested sleep is _9h .
(b) For which age group, the time duration
of sleep is maximum? _14h and how much? in
fants .
(c)  The sleep duration for children of age
13 to 18 years is _3 _ hours less than the sleep
duration for children of age 3 to 5 years.
(d) For which age group the time duration
for sleep is rainimum and how much? 13-18
children and 7h.
Q2. In April 2020, people from dlﬂfrent
areas and provinces of Pakistan
participated in games. The number of
participants is shown with the help of this

-1l
Y

Owtres of et e
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bar graph. Read the

questions.

Peaph pricoabwpin gETOT

Seata One varizal sguare = 10 peogle

graph and answer the

bagret ol pecoie

FIE
»
m
»
L]

Syt

AN BdeTaNY oo,

e

Fyie
bl o

[imeea] pnae ard peon et ef FPac v

Lt $ondny

(a)  The greatesl number of people are
from Puniab and their quantity is 40.

(b)  The less number of people are and
their quantity is. Sol: AJ&K and 3

(c) From which

participated? Sol; Sindh
(d)  In which two cities the people are of

same quantity? Sol: Balochistan and KPK

(e) What is the tota

cities

30 people

| number of people

participated in Game. Sol: 5+ 104 1520+ 10

+ 40+ 30

=30+ 100
= liﬁﬁns.

Exercise 2 (PG Th 171)

Q1. In a superstore, the number of
customers who came for shopping from
11am in the morning to 6 pm in the evening
for a week, is shown in this line graph. Read
the graph carefully to answer the given

questions. _ !
" Total ra. of cuslamers i a wook
2 1000 —
E 800 P
600 \
S
e -\\//
3 200
. Womday Wadrot + X
Tumstny ‘g.mmmmm
Cuys
a) One what day did the maximum

number of customers come and how m

! any?
Sol:  Maximum number of customers ::me
on Sunday which are 1000 Ans,

b) Is the total no. of customers coming
on Monday and Thursday mor¢ or less thap
{he no. of customers coming on Sunday?
Sol:  Customer, coming on Monday =700
Customer coming on Thursday = 400
Total customers coming on Monday ang
Thursday = 700+400 = | 100
Customers coming on Sunday = 1000
1100 - 1000 = 106G
Number of customers coming on Monday ang
Thursday 100 move than the numbers of
cusiomers coming on Sunday. Ans
c) On what day did the minimug
number of customers come and how many?
Sol: On Tuesday, minimum number of
customers came which are 300 Ans.
d) How many customers came on Friday
pumber of customers coming on Friday?
Sol: -~ Number of customers came on Friday
is 600. Ans
Q2. During a week of August, th
maximum temperature (in centigrade) of
Peshawar is shown in this line graph. Read
it to answer the questions.

v Tamperalire iv A wee
S 28
=
g 3 L
~]
.E A X / 1=
b V/
g % '
= Munday Voo aeday frday gavin
Tueszay Thursday Seturday
Days

(a) On what day th WS
highest? Yy the temperature

Sol:  The temperatu Wi
highest, Ans e on Mondty

(b)  Which two days had the s
temperature and how much?

Is=0'1|::| The temperature on Thursday ot
riday have same which is 35°C. Ans

(c) What

Sol: Th
Wedncsda:. Wt lemperature was 30°C o
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' he tem :
(d) What was t Perature on Friday?
Sol: __On Friday, the temperature wag 35¢

Exercise 3 (Th pg 173)

Q1. ~ The food components present in g
poiled egg are shown in this pie chart, Read
the L:lurl carefully to answer the given

pestions.
(a) What is the quantity of fat in the hoiled
ege? Food '™~
components write of
poiled egg of graphic.
Sol: 5 Ans
(b) What component
is present in the most
amount?
Sol; Cholesterol Ans )
(c) What is the total quantity of fat and
proteins?
Sol5+6=11 Ans
(d) How much less is the quantity of
proteins than the quantity of sodium?
Sol: 62-6=56 Ans
(¢) What is the component that is present in
the least amount in boiled egg?
Sol:  Starch Ans
Q2. A survey in village was carried out
to find what cattle are bred by the people of
the village. e gy
(a) Which cattle is bred
the most?
Sol: goats Ans
(b) Which cattle is bred
the least?
Sol: donkeys
(¢) Is the total number of sheep and goats
more or less fhan the total number of
donkeys and buffaloes, and ho.w many more

or less?
Sol:

LY

Number of sheeps =58

Number of goats = 100

Total number of sheeps and goats
- =58 +100=158

Number of donkeys =33

Number of buffaloes = 98

Total number of donkey and buffaloes
=35+98=133 158 = 133 =25 Ans.
The total number of sheep and goats more than
the total number of donkeys and buffaloes.
(d) Write in the form of fraction what
part is the number of bulls to the total
number of cattle?
Sol:  Number of bulls = 74
Total number of cattle = 100+58+98+35+74 =
365

Required Fraction = L
365
Review Exercise (TB Pg 174)

Q1. Choose the correct answer.
(a) | It is important that in a bar graph, the
of each bar is same

(i) | Length (ii) | Colour

(i) | Widthv (iv) | Value

(b) | Bar graphs can be of types.

(i) | Twov (i) | Three

(i1i) | Four (iv) | Five

(c) | ____ isalso called a circle graph.

(i) [ Pie charty’ (ii) | Line graph

(iii) | Vertical  bar | (iv) | Horizontal bar
graph - ph

(d) | _____ is drawn by joining the dots

representing the quantity of a given
value in the question :

(i) | Pie chart (1) | Line graphv’

(iii) [ Vertical  bar | (iv) | Horizontal bar
graph graph

Q2. Marwa’s weight from birth to 7

years is shown in the following bar graph.
Read the graph to answer the questions.
Larwd s waht

" iz

Ia ¥

=

£ " g
| L.

' L Sattny ™ Fart ’ S Sived

™~ nr ™ ne L - nr

Mg Ve _
Scae: Oro square ke verteal drecion s represening 10 kg
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(2) What was Marwa’s weight at the
age of one year?

Sol:  Marwa's weight was 8 kg at the age of
one year Ans.

(b)  In what years Marwa’s weight was
same and how much?

Sol: At the age of 3¢ year and 4" year
Marwa’s age was same and it was 14kg.

(c) What was the age duration in which
Mrwa’s weight increased the most and how
much?

Sol: At the age of 6% year and 7" year,
marwa's weight the most and which was 8kg.
(d)  What was the age duration in which
Marwa’s weight increased the least and how
much?

Sol: Al the age of 2™ year and 3" year,
Marwa’s weight increase the least and which
was 4 kg. Ans

(e) How much did Marwa’s weight
increased in total from the age of one year
to 7 year.

Sol:  4+2+0+4+4+8 =22

Marwa’s weight increased in total form the age.
of one year seven years in 22kg Ans.

Q3. Ahad has planted different flowers
in his garden. Their number and type is
shown in this bar graph. Read the graph to
answer the questions.

(a) How many roses are there in Ahad’s
garden?
Sol: 10 Ans
) How ‘
' g:uch less are :‘ ’j*:*’ﬂ"’“"
the tulips than Rowe JREED
the Gul e ‘:: -
qasidi? o : i
Sol: 13 - 12 E 2
= | Ans -
(c) Which ‘i Sl
flowers are 5
present in the  caequ
most number in
Ahad’s and how  sewyneew ; l‘— z

many are they.

Sol: Spring flowers are present in the mog
number in Ahad's garden which are 20.

(d) Write in fraction from the numbey
of tulips as compared to the total number of

all the flowers.
Sol:  Total number of flowers

=204+13+9+1247+10=7]
Required fraction = -‘_-}-"—;- Ans

(e) Which flowers are present in the
least number and how many are they?
Sol:  Chrysanthemum arc present
number and which was 7 Ans.

Q4. Ibrahim setup 2 stall of cupcakes on
the spring festival of his school. Ibrahim
drew a line graph of the cupcakes sold in
each hour from 9 in the morning to 2 in the
afternoon. Look at the graph fo answer the
questions.

least

Y LUpPCaKes
' _l

40
g » /N
(]
a 20 \
) N

19 4

& 2 3 a [ X

Time in Hours

(a)  How many cupcakes were sold if

the third hour?

Sol: 20 cupcakes Ans

() In which hour were the mos!
cupcakes sold and what was their numbers’
Sol:  In 4" hours; the most cupcakes Wer
sold and which was 35 cupcakes. Ans

(c) In which two hours were $a7*
number of cupcakes sold? What was thei
numbers?

Sol:  In 2™ and 5* hour the same numb‘for

cupcake§ were sold. Which are 15 Ans

f:.) if Tbrahim sold 92 cakes in totsh

So‘IIT many cakes were sold in the first hour’
+ 8 cupcakes were sold in the 1* year-

____—"
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Quifa

()  How many people like vanilla ice
cream?

Sol: 2 people Ans

(b)  Which flavor is liked the most?

Sol: Qulfa Ans

(c) Which flavor is liked by the same
number of people and how many?

Sol: ~ Chocolate and mango were liked by
the same number of people and numbers of
people are 4 Ans.

() How much less are the number of
people preferring pistachio ice cream than
the number of people preferring quifa.ice
cream?

Sol: 7 -1=6

6 people preferring Qulfa icecream than
pistachio icecream. Ans

()  There are 20 family members in
total while people preferring chocolate ice
tream are 4. How will you show this
humber as a fraction?

Sol:  total number of People = 20

People what like chocolate =4

Required fraction = -2
4

=E Ans
\__-_ ——

"-h..-.___
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